AEDNHFTHEES BFILEMTHED)

=L, 774 ILDEH
1 fBESNZAHOKTE, + — x = L) ZHAVT, 1205 10 X TOEZEZ L oA EED 5,
2. A fHOF A > TWHUE, ZOIEFITAB T,
3. HFE, Ol ooV ET, REXT IO LI L TUIWITER A,
4. 4+ — x =+ L ()1, FEOKICRS>TVWBRIFAL bOEMEHF->THRVEEL LET,

5. UTFOR=VIZHHMEHNTH < ETEHTT,

HFEoH - — &

1114 1115 1116 1123
1124 1125 1126 1133
1134 1135 1136 1137
1138 1139 1144 1145
1146 1156 1222 1223
1224 1225 1226 1227
1228 1229 1233 1234
1235 1236 1237 1238
1239 1244 1245 1246
1247 1248 1249 1255
1256 1257 1258 1259
1266 1267 1268 1269
1277 1278 1279 1288
1289 1299 1333 1334
1335 1336 1337 1338
1339 1344 1345 1346
1347 1348 1349 1355
1356 1357 1358 1359
1366 1367 1368 1369
1379 1445 1446 1448
1455 1456 1457 1458
1459 1466 1467 1468

1469 1479 1488 1557
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1566
1579
1779
2224
2228
2235
2239
2247
2256
2267
2278
2299
2336
2344
2348
2357
2367
2378
2399
2447
2456
2466
2477
2489
2507
2567
2578
2599
2669
2688
2778
2799
2999
3336

1567
1668
1789
2225
2229
2236
2244
2248
2258
2268
2279
2333
2337
2345
2349
2358
2368
2379
2444
2448
2457
2467
2478
2499
2558
2568
2579
2666
2677
2689
2779
2888
3333
3337

Copyright 2009 7°7® R U )L http://kaminodrill.sakura.ne.jp/

1568
1678
1799
2226
2233
2237
2245
2249
2259
2269
2288
2334
2338
2346
2355
2359
2369
2388
2445
2449
2458
2468
2479
2559
2559
2569
2588
2667
2678
2699
2788
2889
3334
3338

1577
1688
2223
2227
2234
2238
2246
2255
2266
2277
2289
2335
2339
2347
2356
2366
2377
2389
2446
2455
2459
2469
2488
2556
2566
2577
2589
2668
2679
2777
2789
2899
3335
3339



3344
3348
3357
3367
3379
3445
3449
3466
3478
35595
3559
3578
3677
3699
4446
4458
4469
4489
4568
4669
5556
5667

3345
3349
3358
3368
3388
3446
3455
3467
3479
3556
3566
3579
3678
3789
4448
4466
4478
4556
4578
4679
5567
5677
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3346
3355
3359
3369
3389
3447
3456
3468
3488
3557
3567
3589
3679
3799
4456
4467
4479
4566
4588
4688
5568
5679

3347
3356
3366
3378
3399
3448
3458
3469
3489
3558
3569
3668
3689
4445
4457
4468
4488
4567
4668
4689
5578
2689



fRE I

-

1114

N

1+4(1—-1)x4=1 1+-(14+1)x4=2 1x1x(4—-1)=3 Ix1x1x4=4 1x1x(1+4)=5
1x(@4-(1+1)=2 1x(1x4—-1)=3 1+(1x1+4)=4 1x(1+1x4)=5
1Xx1x4—-1=3 1x(1—-144)=4 1+1x1x4=5
ITx(1+1+4) =6 Tri+1+4=7 Ix(I+1)x4=28 T+r(I+1)x4=9 A+ x(1+4 =10
1+1x(1+4)=6 (14+41x1)x4=28

1+1+1x4=6

J

N
K

1115

1+(1-1)x5=1

5—(1+1+1)=2

Ix(B-(14+1)=3
Ix(B-1-1)=3

1Xx1x(5—1)=4
1x(1x5—-1)=4
IXx1x5—-1=4

~

I1Xx1x1x5=5
1+(1x1+5)=5
I1x(l—1+5)=5

[=2]

Ix(A+1+5) =
1+1x(145)=
1+14+1x5=7

T+1+1+5=38

A+1)x5—-1=9

10
10

1x(14+1)x5
(14+1x1)x5

J

1+(1-1)x6=1

6+(1+14+1)=2

1+(1+1)x6=3
I1x6+(1+1)=3

Ix(6—(14+1)=4
1+6+(1+1)=4
Ix(6—-—1—-1)=4

~

5

5

1x1x(6-1)
1x(1x6-1)
I1X1x6—-1=5

I1X1X1X6=6
1+-(1x1+6)=6
1x(1-146)=6

1x1x(14+6)=7
1x(14+1x6)=7
1+1X1x6=7

IXx(1+1+6) =38
14+1x(1+6)=38
1+1+1x6=38

1+1+146=9

O+ x(6-1) =10

N
-

1123

1+1+2-3=1
I1x(142)+3=1

1+(1+2)+3=2
Ix(143-2)=2
1+1x(3-2)=2

1+(1-2+3)=3
1+41-243=3
(1+1)+2x3=3

(14+1)+2+3=4
(14+1)x3—-2=4
1x(2-1+3)=4

J
\
1x1x(2+43)=5

1x(1x24+3)=5
1Xx1x243=5

1x(1+2+3)=6
1+41x(243)=6
I1X1x2x3=6

1+414+2+3=7
1x(142x%x3)=7
1+41x2x3=7

1+1+2%x3=28

Tx(1+2) x3=

9
(1+1x2)x3=9

TT(1+2)x3=10
(14+1)x (243) =10
(1+1+43)x2=10

N
-

1124

(14+14+2)+4=1
(14+1)x2+4=1

2
2

1+(1—-2+4)
1+(1x2+4)
1x1+2x4=2

1+1+2x4=3
I1x(1+4-2)=3
1+1x(4—-2)=3

1+41—-24+4=4
(14+1)+2x4=4
(1-1)x2+4=4

(1+1)+2+4
I1x(2—1+4)

5
5
1+(2-1)x4=5

Ix1x(2+4) =6 Tx(1+2+4) =7 T+1+2+4=28 ITx(1+2x4)=9 T+14+2x4=10

1x(1x24+4)=6 1+41x(2+4)=7 1x1x2x4=38 1+1x2x4=9

1x1x24+4=6

1125

5—-(1+1+2)=1 (1-1)x54+2=2 1x1x(5-2)=3 Ix(1+5-2)=4 141-245=5

5—(1+1)x2=1 1+2x(5—-1)=2 Ix(1+45)+2=3 1+1x(5—2)=4 (1+1)=2x5=5
1x(B5-(14+2)=2 1x(1x5—-2)=3 (1-1)x2+5=5

(1+1)+-2+5=6 1x1x(24+5)=7 1x(14+2+45)=38 1+14+2+5=9 1x1x2x5=10

(14+1)x(5-2) = Ix(1x2+5) =7 1+1x(2+5) =8

I1X1X24+5=7

N
r

N

1126 ~N
6=(1+1)—2=1 1+(1+2)x6=2 1+(1x2+6)=3 1+1+2x6=4 Ix(1+6-2)=5
(1-1)x6+2=2 Ix1+2x6=3 I1x1x(6—2)=4 1+1x(6-2)=5
1+(1x2)x6=3 Ix(1+6+2)=4 14146+2=5
T+1-2+6=6 A+1)+2+6=7 IXxIx(2+6) =28 Ix(1+2+6)=9 T+1+2+6=10
(14+41)=2x6=6 Ix(2-146)=7 Ix(1x2+6)=38 14+1x(2+46)=9
(1-1)x24+6=6 1+(2-1)x6=7 IX1x24+6=38
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(ﬂ133

I1x(14+3-3)=1
1+1x(3-3)=1
141-3+3=1

1+1+3-3=2
1x(1+3+3)=2
1+1x3+3=2

14143+3=3
(1+1)x3-3=3

(1+1+3)x3=4

|
o

Ix(3—1+43)=
1x3—-143=5

1x1x(3+3)
1x(1x343)
1Xx1x34+3=6

6
6

Tx (1+3+3)
1+1x(343)

7
7

1+1+3+3=28

I1Xx1x3x3=9

IX(1+3x3) =10
141x3%x3=10

J

1134

N[

1+14+3—-4=1
I1x(143)+4=1

1+4(143)+4=2
(1+1)x3—-4=2
1x(1+4-3)=2

1+41+4-3=3

1+(1-3+4)=4
(1-1)x3+4=14

N

(1+1)x4—-3=5
3—(1+1)+4=5
3—1-1+4=5

Ix(3—1+4) =6
1Xx3—-1+4=6

.

x1x(3+4)=7
Xx(1x34+4)=7
X1x34+4=7

==

1

X(1+3+4) =38
141

x (3+4) =38

1+14+34+4=9

I+) x3+4=10
143x(4—1)=10

J

N
/ﬂ135

~

7
7

1x(3—1+5)

1x(1x3+5)=38
I1Xx1x3+5=8

1+1x(3+5) =9

(14+14+3)=5=1 Ix1x(5-3)=2 1x(14+5-3)=3 1+41+5-3=4 (1-1)x3+5=5
(14+1)x3-5=1 1x(1+5)+3=2 1+1x(5—-3)=3 B-(1+1)x5=5
1x(1x5-3)=2
6 I+1)x5-3 Ix1Ix(3+5) =38 Ix(1+3+5) =09 I+1+3+5=10

J

(1+1)x3+6=1

1+-(1-3+6)=2
1+-(1x3+6)=2
1x1+3x6=2

1+41+3x6=3
1x1x(6-3)=3
I1x(1+6+3)=3

(1-1+3)x6=4
(1+1)+3x6=4
Ix(1+6-3)=4

~

1+41+6-3=5

I-1)x3+6=6
1+1)x(6-3)=6

3—(1+1)+6=7
3—1—-146=7

I+1+3)x6=28
I1x(B3—-1+46)=8

1x1x(3+6)=9
1x(1x3+6)=09
1Xx1x3+6=09

TXx(1+3+6) =10
14+1x(3+6)=10

N
(ﬂ137

7T—(141)x3
(1T—1)+3-1

1
1

1+3x(7T—1

)=2
Ix(7T—1)+3=2

1+1+7)+3=3
(1-1)x7+3=3

1x1x(7—3)=4
1x(1x7-3)=4
I1X1x7—-3=4

J
\
Ix(1+7-3)=5
1+1x(7-3)=5

1+14+7-3=6

A-—1)x3+7=7
B-(141)x7=

K}

I+ x(7—-3) =38
3—(1+1)+7=8
3—1-14+7=38

IXx(B3—-—1+7)=09
1x3—-147=9

Ju—

X1x(@B+7)=10
x (1x3+7) =10
X1x34+7=10

=

J

N
(1138

8+ (1+1)—3=1

1+(1+3)x8=2

1x(1+8)+3=3
(1+1x8)+3=3

14+(1+8)+3=4
1+(3-1)x8=4
1x(8—(143)=4

N

=

x1x(8—-3)=5
x(1x8—-3)=5
X1x8—-3=5

==

Tx(1+8-23)
1+1x(8—-3)

6
6

1+148-3=7

I-1)x3+8=28
(3—(1+41)x8=8

3—(1+1)+8=09
3—1-1+8=09

T+ x(B8—3) =10
1x(3—1+8)=10

N
K1139

9+3-(14+1)=1
9:3-1-1=1

1+3x9—-1=2
I1x(9+3-1)=2

1+(1x3+9)=3
1xXx1+3x9=3
1+-(1x3)x9=3

1+41+3x9=4
1x(1+9+3)=4

J
\
1+1+9+3=5
1x(9—(1+3)=5

I-1+-3)x9=26
(1+1)+3x9=6
1x1x(9—-3)=6

Tx(1+9-3) =17
14+1x(9-3)=7

1+41+9-3=38

I-1)x3+9=9
(B-(1+1)x9=9

3—(1+1)+9=10
3—1—-1+9=10

J

N
(ﬂ144

Ix(144—4)=1
1+1x(4-4)=1
1+1-4+4=1

1+14+44—-4=2
Ix(1+4+4)=2
1+1x4+4=2

1+144+4=3
(1-1+4)x4=3

(1+1)x4—4=4
44+ (1—-1)xd4=4

~

(1+1+4)x4=5

I—(1I+0)+4=6
4+ (1+1)+4=6
4—1-1+4=6

Ix(@A—1+4) =7
Ix4—144=7

1x1x(4+4)=38
1x(1x4+4)=38
I1x1x4+4=8

Ix(A+4+4) =09
1+1x(4+4)=9

1+41+44+4=10
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(1145

1+1+4-5=1
Ix(14+4)+5=1

1+(14+4)+5=2
Ix(145—-4)=2
1+1x(5—4)=2

(1-1)x54+4=4
1+(B+4—1)=4

1+(1—-4+5)

5
(1-1)x4+5=5

~

Af)x5-4=6

I—(1+1D)+565=7

ix@—1+5)=28

TXIX(4+5) =09

Tx(1+4+5) =10

J
N

4+(14+1)+5=7 1x4—145=38 1x(1x4+45)=9 14+1x(4+5)=10
4-1-1+45=7 I1Xx1x4+5=9
(—1146
A+1+44)+6=1 (1+1)x4—6= 1+(1—4+6)=3 1+146-4=4 (4+6)+(1+1)=5
Q+1)=6-4)=1 | 1x1x(6-4)= (1+1)+4x6=3
1x(1x6—4)=2 Ix(14+6-4)=3
I-1)x4+6=6 Ir6-(1+0)=7 A+ x6-4=28 IX(A—1+6)=0 TX1Ix(4+6) =10
4—(14+1)+6=38 1x4—1+6=09 1x(1x4+6)=10
4+ (141)+6=38 Ix1x44+6=10

J

N
K1156

1+414+5—-6=1
1x(1+5)+6=1

1+(145)+6=2
1x(14+6—5)=2
14+1x(6—5)=2

1+1+6-5=3

(1+1)x5-6=4

(1-1)x6+5=

5
1+(6+5—-1)=5

~

I-(1-5:6)=6
(1-1)x54+6=6

A+1)x6-5=7

5+6-(1+1) =28

5—(1+1)+6=09
5-1-14+6=9

Ix(5—-1+6) =10
Ix5—-14+6=10

J

N
(1222

142x(2-2)=1

1x(242-2)=2

1+2+2-2=3

1+24+2+2=4

1+24+2)x2=5

~

1x(2-2+2)=1 142-222=2 1x(2+2+2)=3

1X2X2+2=2 1+2x2+2=3
1x(24+2+2)=6 1+24+242=7 1x2x(24+2)=38 1+42x(24+2)=9 1+24+2)x2=10
1x(242x2)=6 1424+2x2=7 1x2x2x2=8 1+2x2%x2=9 (1+2x2)x2=10

K1223

1x(2+2-3)=1 14242-3=2 1x(2-2+3)=3 142-243=4 142+243=5
1+(2-2)x3=1 1+42x2-3=2 1xXx2+2x3=3 1x((2+243)=4 1+2x3-2=5
1x(2x2-3)=1 1+2+2x3=4
1+2+2)x3=6 1x(24+2+3)=7 1+42+24+3=38 1+42+4+2x3=9 1x2x(2+43)=10
(1+3)x2—-2=6 1x(2x2+43)=7 1x(24+2x3)=38 (1+2)x24+3=9
2+(1-2+3)=6

N
(1224

I1x2x2+4=1
1+42+42—-4=1
1x((242)+4=1

1+2x2+4=2
1+ (2+2) +4=2

1+2x%(2+4)

=3
Ix(2+4)+2=3

1x((2—-244)=14
I1x2+2x4=14

142-244=5
Ix(2+2+4)=5
1+2+2x4=5

y
~

1+2-2+4=6
(14+2)+2x4=6

1+42x4—-2=7

Ix(2+2+4) =38
1x(2x2+4)=38

1+2+4+244=9
1+2x244=9

Tx(2+2x4) =10
I1Xx2+2x4=10
(1+2)x2+4=10

N
/-1225

1+(2-2)x5=1
(14+2+2)+5=1
(14+2x2)+5=1

145—(2+2) =2
1+45-2x2=2
145-2-2=2

1+2+5+2=3
2-1)x(G-2)=3
(2—-1+5)+2=3

(1+2+5)+2=4
1x(5—2+2)=4

I1x(2—2+45)=5
1x2+2x5=5

J
~

I+2-2+5=6
1x(2+2+5) =6
1+42+2x5=6

T+2+2+5=7
1+2x(5-2)=7

1x(2x5—-2)=8
1X2x5—-2=28

Tx(2+2+5

) =9
1x(2x245)=9

1+2+2+5=10
1+2x24+5=10

J

N
K1226

14 (2-2) x
(14+2)x2=+

1+2x(6-2)=2
I1x(6—(24+2)=2
1x(6—2x2)=2

1+46—-(24+2)=3
1+46—-2x2=3
1+46—-2-2=3

1+2x(2+6)=4
1x(24+6)+2=4

I1x(24+6+2)=5
14+(2+6)+2=5
1x246+2=5

N

1x(2—-24+6)=6
1X2+2%xXx6=6

N

T+2-2+6=7
Ix(2+246)=7
14+2+2%x6=7

1+2+-24+6=38
1x2x(6-2)=38

I+2)+2x6=09
1+2%x(6-2)=9

TX(24+2+6) =10
1x(2x246)=10

J

Copyright 2009 7°7® R U )L http://kaminodrill.sakura.ne.jp/



(1227

~

1+(2-2)x7=1 A+7)+(2+2)=2 | 1x(T—(2+2)=3 | 1+247+2=4 (14247 +2=5
A+7)+(2x2)=2 | 1x(7T—-2x2)= 1+7—(2+2)=4
1+7)+2-2= 1x(7T—2-2)= 1+7-2x2=4
Ix(7T—2+2) =6 Tx@2—-2+7)=7 T+2-—2+7= T+2+2+7=09 TX2x(7—2) =10
1x7-2+2=6 1x2+2X7="7 Ix(2+2+47) =8
147 +2+2=6 1+42+2x7=38

J

N
(1228

1+4(2—-2)x8=1

1+-(2x2+8)=2
1+(2+2)x8=2
1+-(2x2)x8=2

1+2x(8-2)=3
1+8+(242)=3
1+8+(2x2)=3

X (8—-(2+2)=14
1x(8-2x2)=4
1x(8-2—-2)=4

N

1+2x(2+8)

=5
1x(2+8) +2=5

Tx(2+8+2) =6
1+(2+8)+2=6
1X2+8+2=6

T+2+8+2=7
Ix(8—-2+2)=7

1x(2—-2+8)=38
1xXx2+2x8=28

1+2-2+8=09
1x(2+2+4+8) =9
142+2x8=9

1+2+24+8=10

J

N
K1229

1+(2-2)x9=1

(9-1)=(2+2) =2
9-1)+(2x2) =2

(14+9)+2-2=3
9—(1+2)x2=3
(O—(1+2)+2=3

(14+9-2)+2=4
9—(1+2+2)=4

~

1+-249+2=5
1x(9—-(242)=5
1x(9—-2x2)=5

1+2+9) +2=6
1+9—-(2+2)=6

I+9)-2+2=7

@7n+272:2
&71pq97m:7

Ix(9—-2+2) =3
1x9-2+2=38
2-1+9-2=38

Ix(2—2+9) =09
1x2+2x9=9

T+2—-2+9=10
Ix(2+2+49) =10
142+2x9=10

J

N
r1233

~

1xXx3x3—-2=7

1+2x(3-3)=1 1x(2+3-3)=2 142+3-3=3 1+4243+3=4 (1+2+3)x3=5

1x(2-3+3)=1 142-3+3=2 I1x(2+3+3)=3 1+2x3-3=4 143-243=5
1x2x3+3=2 1+2x3+3=3

(1+2)x3-3=6 1-3+2)x3=7 IX(2+3+3) =38 T+2+3+3=9 T+2x3+3=10

(1+43-2)x3=6 Ix(3x3-2)=7 1x(2x3+3)=9

N
(1234

I1x(2+3-4)=1
1x24+3-4=1

1+2+3-4=2
1x(2x3—-4)=2

1+2x3-4=3
Ix(2+4-3)=3

1+42-34+4=4
(1+2)+3x4=4

(1+2)x3—-4=5
(14+2)+3+4=5
1x(2x4-3)=5

1+-2x3Xx4=6
1+2x4-3=6

T+3+2x4=7
143x(4—2)=7

I+3-2) x4=

3
(1+3)+2x4=8

IXx(2F+3+H=09

If2+3+4=10
1x(2x3+4)=10

1+24+3-5=1 1+(243)+5=2 1+(2-5+3)=3 1+2x(345)=4 142-345=5
1x(2+3)+5=1 1+2x3—-5=2 (1+3)x2—-5=3 (14+2)x3-5=4 (14+2)+3x5=5
1x(2x3-5)=1 1x(2+5—-3)=4

1+2)=3+5=6 1x(2x5=3)=7 1+2x5-3=38 1x3x(5—-2)=9 I1x(2+3+5)=10
(1+2)x(5-3)=6 1x2x5-3=7 (14+3x5)+2=38

1x(3—245)=6

142x3+6=2
(1-2+3)x6=2

(1+2)x3—

6=3
(1+2+6)=3=3

1x2+3x6=4

J
\
1+2+-3x6=5

1x(246—-3)=5
1+2+6=3=5

1+2-34+6=26
(14+2)+3x6=6

I+2)=3+6=7
142x(6-3)=7
I1x(3—-2+6)="7

1+3-2+6=38

1+2x3%x6=9
1x(2x6—-3)=9

I+2+3)x6=10
142x6-3=10

J

N
(1237

(1+2x3)=+

7
(1+3)x2-7

1
1

(1+2)x3-7=2
1+2%x(7T-3)=2
Ix(7T—(243))=2

Ix(2+7)+3=3
(1x2+7)+3=3

1+(24+7) +3=4
2-1)x(7-3) =4

~

1+2x(34+7)=5
(14+42x7)+3=5

IxX(2+7-3)=6

N

1+2-34+7=7
(1+2)+3x7=7

I+2)=3+7=3
1x2x(7T—3)=38

T+2x(7T—-3) =09
1+43-247=9

I+7-3)x2=10
(2-1)x (3+7) =10

J
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(1238

~

(1+8)x2+3=6

=9
1x(3—2+8)=9
1+(3—-2)x8=09

(1+2)x3-8=1 1+3x(8-2)=2 Ix(8—(243)=3 | 1+8—(24+3)=4 (1+8)+3+2=5
1+2x8-3=1 Ix(8—2x3)=2 1+8—-2x3= 1+8-2-3=4 (2-1)x(8-3)=5
(1+3)x2=+8=1 I1x(8—2)+3=2 Ix(8—2—-3)=

I+3+8) <2=6 Tx(2+8-3) =7 Fz-3+8= Af2)=3+8 Ix2x(8-3) =10

1+43-24+8=10

N
(1239

(1+2)x3+9=1

1+9)+12+3)=2
(1+9)+2-3=2
1+9+3-2=2

(1-2+3)x9=

3
I1x(9—2x3)=3

(14+2+9)+3=4
1x(9—(243) =4

J
\
1x(249+3)=5

1x24+9+3=5
1+-3x9+2=5

I1X2+3%xXx9=6
1+2x(349) =6

14+2+3x9=7
142x9+3=7

Ix(2+9-3) =8

1+2-3+9=29
(142)+3x9=09

I+2)=3+9=10
1x(3—2+9) =10
14+ (3-2)x9=10

N
K1244

1x(4—2+4)=6

(1+4+2)x4=9

1+2x(4—4)=1 Ix(244—-4)=2 1+2+4-4=3 1+2+4+4=4 1+2x4—4=5
1x(2-4+4)=1 1+42-424=2 1x(24+4+4)=3 1x(2x4—4)=4

1x2—4+4=1 1x2x4+4=2 1+2x4+4=3 1x2x4—4=4

(I+2-4)x4=6 T+4—2+4=7 T-2x4x4=28 T+@d—2)x4=9 Tx(2+4+4) =10
1+2x444=6 1+4+2+44=7 (1+2)x4—4=38 1+4+2x4=9

N
r1245

1x(244-5)=1
1x24+4-5=1

1+244-5=2

1x(2x4—-5)=3
1x2x4-5=3

1+2x4-5=4
1+2+5-4=4

(1+4)x2-5=5
(1+4+5)+2=5

1x(2x5—-4)=6
1XxX2x5—-4=6

I+2)x4d—-5=7
1+2x445="7
14+2x5-4=7

1+44-245=8
1+4+-245=38

2-Dx@+5) =09
(2-1)x44+5=09

1+2x4x5=10

N
/1246

1+4244-6=1
Ix(2+4)+6=1

1+(244)+6=2
1x(2x4—-6)=2
1X2Xx4—-6=2

1+2+4x6=4
1x(24+46—4)=4
1x2x(6—4)=4

A\

1+2%x(4+46)=5
14246-4=5
142x(6—4)=5

(1+2)x4-6=6
(14+2)x (6—4)=6
1+(4+6)+2=6

T+-2x64+4=7
1x(446+2)=7
1x4+6+2=7

I-2x4+6=38
Ix(2x6—4)=8
1x2x6—4=38

1+2+-4)x6=9
142x6—-4=9

I+6)x2—4=10
(2—1) x (44 6) =10
(2—1)x4+46=10

N
/-1247

1x(2x4—-7)=1
(14+244)+7=1
I1x2x4-7=1

142x4-7=2

1+4)x2-7=3
2-1)x(7T—4)=3

1+-2-7+4)=14
(1+7)x2+4=4

J
\
(1+2)x4—-7=5
I1x(2+47—4)=5

I¥2+7-4=6
1x2%x(7T—4)=6

T+2x (-4 =7

A+ <2+4=

g
(1+7—-4)x2=8

T=2x4+7=0
A+2)x(7T—4) =9
Ix(@4—2+47)=9

1x(2x7—4)=10
1x2x7-4=10

N
K1248

1x2x4-+
1+2x4—

0 00
Il

1+2x4+8=2

(1-2+8)x4=3
1+8—(2+4)=3

1x2+-4x8=4
(1—-2+4)x8=14

J
\
1+2+4x8=5
1+248+4=5

1+-2x(4+8)=6
(1+2)+4x8=6
1x(24+8—4)=6

1+248—-4=7

Tx2x(B8-4) =8
1+2x8+4=38

T+2xB-4) =9
1+44+8+2=9

T-2x4+8=10
1x(4—2+8)=10
Ix(4+2+8)=10

J

N
K1249

(14+2x4)+9=1
(14+4)x2-9=1

149—-2x4=2
1+-(9+2-4)=2
(14+9-2)+4=2

(142)x4—-9=3
(142+9) +4=3

14+9—(24+4) =4
1+9-2—-4=4

N

(1+9)x2+4=5
1+9)+@4-2)=5

2-1+9-4=6
2+ (4-1)x9=6

Ix(2+9-4) =17

1+24+9-4=38

A+9+2+4=9
2x(9—4)—1=9
(4—(142)x9=9

Tx2x(9—4) =10
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-

1255

1+2x(5-5)=1
1x(2-5+5)=1
1x2-5+5=1

1x(24+5-5)=
1+42—-5+5=2
1Xx2x5+5=2

14245-5=3
Ix(2+5+5) =3
14+2x5+5=3

1+24+5+5=4

~

1x(2x5—-5)=5
1xXx2x5-5=5
1+2x(5+5)=5

1+2x5—-5=6

(1+2+5)x
(145)x2—

5=7
5=7

8
8

Ix(5-2%5)
(1+5)=2+5

1+5-245=9

I+2)x5-5=10
(2-1)x (5+5)=10

N
-

1256

1x(245—-6)=1
1x24+5-6=1

1+2+5-6=2

I1x(2+6-5)=3
142x(6-5)=3

1x(2x5—-6)=4
1xXx2x5—-6=4

AN

1+42x5—-6=5

1I+5)x2-6
2

6
(1+5+6)+2=6

1x(2x6-5)="7
I1X2X6—-5=7

1+2x6—-5=8
1+2x6+5=8

(1I+2)x5-6=9
I1x(5—2+4+6)=09

1+5-246=10

N
-

1257

1+2+5-7=1
1x(245)+7=1

1+(245)+7=
142+ (7-5) =

1x(2x5-7)=3
1Xx2x5—-7=3

1+2x5-7=4
I1x(2+7-5)=4

AN

1+24+7-5=5

142x(7T—5)=5

T-2x(B+7) =6
(1+2)x(7T=5)=6

2

2

(14247 +5=2
2=7

7

I¥2)x5-7=28
2x7-(1+5)=8

TX(2xX7-5)=9
1X2X7—-5=9

T+2x7—-5=10
Ix(B5—2+7) =10

N
-

1258

(14245 +8=1
1+2)=(8-5=1

1x(2x5—-8)=2
1X2X5—-8=2

1+2x5—-8=3
1+(2+8) +5=3

(1+5)x2—-8=4
2-1+4+8—-5=4

AN

I1x(24+8—-5)=5

1+2+8-5=6
1Xx2x(8—=5)=6

I+2)x5-8=7
142x(8=5)=7
1+548)+2=7

I+8-5)x2=28

dAf2)x(B8-5)=09
1+2Xx8+5=9
Ix(B+8+2)=9

1+5+8+2=10

N
-

1259

1x(2x5-9)=1
1x2x5—-9=1

142x5-9=2
1+2x(9—5)=2

1+(5-2)x9=3
(14+5)x2—-9=3
1+9—(2+5) =

(149 x2+5=4
149+(5-2)=4

AN

1+(2-9+5)=5
2-149-5=5

N
-

OF2)x5-9=6 T=2x(G+9) =7 TX2x(9—5) = TF+2x(9-5)=9 019 =2+5=10
1x(2+9-5) =6 142+9-5=7 14+(54+9)+2= (149-5)x2=10
1266 I

1+2x(6—6)=1
1x(2-6+6)=1
1x2-6+6=1

1x(24+6—-6)=2
1+42-6+-6=2
1X2x6+6=2

14246-6=3
I1x(2+4+6+6)=3
1+2x6+6=3

1+246+6=4
(1—2+6)x6=4

2x6—(146)=
2x6-1-6=5

ot

TXx(2x6-6)=6
1X2X6—-6=6
1+2x(6+6)=6

1+2Xx6-6=7

I+2=6)x6
(1+6)x2—6

8
8

T-2X6+6=9
1x(6+2+6)=9

Tx(6—-2+6) =10
14+6+246=10

N
-

1267

1x(2+6-7)=1
1x246-7=1

1+424+6-7=2

1x(247-6)=3
142x(7—6)=3

1+24+7-6=4

1x(2x6—-7)=5
1X2Xx6—-7=5

1+2Xx6—-7=6

(14+6)x2—
1+6+7) +

T=7
2=7

Ix(2x7-6) =28
1X2x7—-6=28

1+2Xx7-6=9

T-2x6+7=10
Ix(6+2+7) =10

N
-

1268

14+24+6-8=1
1x(2+6)+8=1

1+(246)+8=2
1+2+(8-6)=2

1+6—-8+2=3
(1+8) x2+6=23

1x(2x6—-8)=4
1x2x6—-8=4
(1+2)+-6x8=4

AN

142x6—-8=5
1+2+8—-6=5

N

Af2)x(8-6)=6
(1+6)x2—-8=6
1+8-6+2=6

1+2x(6+8)=7
1x(6+8) +2=7

14+ (6+4+8)+2
2+(1-6+8)

8
8

IX8—(1+6)=09
2x8—-1-6=09

(142)x6—-8=10
1x(2x8—6)=10
1x2x8—-6=10
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-

1269

(14+24+6)+9=1
(14+2)=(9—-6)=1

1+2)x6+-9=2
1+-(2-9+6)=2

1x(2x6—-9)=3
1x2+-6x9=3
1x2x6—-9=3

1+42x6—-9=4
1+2+-6x9=4

I1x(24+9-6)=5

~

I-2-6)x9=6
1+424+9—-6=6
1x2x(9—-6)=6

TF2x(9-6)=7
149-6+2=7

I+6+9) -2=38

T+2)x6-9=9
(1+2)x(9—6)=9

IX(9—1)—6=10
6+(9—1)+2=10

N
-

1277

1+2x(7T—-7) =1
Ix(2-7+7)=1
1x2-7+7=1

1x24+7-7)=2
142-7+7=2
IX2XT7T+7=2

1+247-7=3
1x(247+7)=3
1+2x7+7=3

1+247+7=4

1=-2+7)x7=

5
2x(7T—-1)—7=5

2Xx7—(1+7) =6
2Xx7T—1-7=6

I1x2x7-7)=7
1X2Xx7-7=7
1+2x(7T+7) =7

14+2x7-7=8

AFf2-7N)x7=09
A+7)x2-7=9

T—-1)=2+7=10

1+424+7-8=2

Ix(2+8—-7)=3
1+2x(8—-7)=3

1+2+4+8—-7=4

2x7—(148) =5
2x7-1-8=5

1x(2x7-8)=6
1X2X7—-8=6

14+2Xx7-8=7

I+f7)x2-8=38
(14+7+8 +2=38

1x(2x8—-7)=9
I1X2Xx8—-7=9

1+2x8-7=10

N
-

1279

1+247-9=1
1x(247)+9=1

1+(24+7) +9=2
142+(9—-7) =2

2-149-7=3
2x (7T—-1)—9=23

1x((24+9-7)=4
1x2x(9-7)=4

1x(2x7-9)=5
1Xx2x7-9=5

T+2x7-9=6
1+2)x(9—-7)=6

AF¥)x2-9=7

1+-2x(7T+9) =28
1x(7T+9)+2=8

1+(74+9)+2=9
2+-(1-7+9)=9

2x9—(1+7) =10
2x9—1-7=10

N
-

1288

1+2x(8—28)
1x(2—-8=+38)
I1x2-8+8=1

I
=

I1x(24+8—-8)=2
1+42-8+8=2
1x2x8+8=2

1+24+8-8=3
Ix(2+8+8)=3
1+2x8+8=3

1+2+8+8=4
1x(8-8+2)=4

1+8-8+2=5

(I—-2=8)x8

6
2x(8-1)—8=6

2Xx8—(1+8) =7
2x8—-1-8=7

1x(2x8—-8)=28
1xXx2x8—-8=28
1+2x(84+8)=38

1+2x8-8=9

T+2+8) x8=10
(14+8)x2—8=10

N
/

1289

1x(24+8-9)=1
1x248-9=1

1+424+8-9=2

1x(249-8)=3
1+2x(9—-8)=3

1+24+9-8=4

Ix(9-8+2)=5
1x9-8+2=5
2x(8-1)—9=5

T+9-8=-2=6
2x8—(14+9)=6

1x(2x8-9)=7
1xXx2x8—-9=7

1+2x8—-9=8

I+8)x2-9=9
(14849 +2=9

1x(2x9—-8)=10
1x2x9-8=10

N
/

1299

1+2x%x(9-9)
1x(2-9+9)
1x2-9+9=1

[l
-

Ix(24+9-9) =2
142-9+9=2

14249-9=3
1x(249+9) =3
1+2x9+9=3

1+24+9+9=4

9-(9—1)+2=5

9-9+(1+2) =6
(9+9)=(1+2)=6

1-2+9) x
2x(9—1)—

© ©

2Xx9—-(1+9)=38
2x9-1-9=38

1x(2x9-9)=9
1x2x9-9=9
1+2%x(9+9)=9

1+2x9-9=10

N
/

1333

1+3x(3-3)=1
3-(143+3)=1

1x(3-3+3)=2
1x(3+3)+3=2

1x(3+3-3)=3
1+3-3+3=3
1x3x3+3=3

1+3+3-3=4
1x(3+3+3)=4
14+3x3+3=4

1+3+3+3=5

N

IX(3x3-3)=6
1x3x3-3=6
(1+3+3)x3=6

1+3x3-3=7
3x3+1-3=7

3-1=-3)x3=28
3-1+4+3+3=38

IX(3+3+3) =09

1+3+3+3=10
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-

1334

1+(3-3)x4=1
3—1+3-4=1

Ix(3+3—4)=2
1x34+3—-4=2

14+34+3-4=3
(1+3)x3+4=3

1x(3—3+4)=4
1x3+3x4=4

1+3-3+4=5
1x383x3—-4)=5
1x(3+3+4)=5

~

1+3x3—-4=6
1+3+3+4=6

A+d=3)x3=7

I+3=3)x4=38
(1+3)x3-4=8

1x(3x4—-3)=9
I1xXx3x4—-3=9

Ix@BF+3+4) =10

N
-

1335

1x(34+3-05)

=1
1+(3-3)x5=1

1434+3-5=2
(1+3x3)+5=2

(1+3+5)+3=3

1x(3x3—-5)=4
1x3x3-5=4

1x(3—3+5)=5
1+3x3-5=5
I1x3+3x5=5

AN

1+3-3+5=26
1x(3+3+5) =6
1+3+3x5=6

T+3<-3+5=17
(1+3)x3-5=7

T+3)x(5—-3) =38
(1+5+3)x3=8

I+5-3)x3=09

I+3=3)x5=10
3—1+4+3+5=10

N
-

1336

1+343-6=1
1x(3+3)+6=1
1+(3-3)x6=1

1+(B3+3)+6=2
(1+3)x3+6=2

1x(3x3—6)=3
1Xx3x3-6=3
1+3x(3+6)=3

1+3x3—-6=4
1+(3+6)+3=14

1Xx(34+6+3)=5
1Xx3+6=+3=5
1+3x64+3=5

1x(3—-3+6)=6
1X3+3%x6=6

T+3-3+6=7
I1X(3+3+46)=7
143+3%x6="7

T+3+-3+6=28
(1+3)+3x6=8

1x3x(6-3)=9

T+3x(6-3) =10

N
(

1337

1+(3-3)x7
(14+3+3)=7

1
1

1x(3x3-7)=2
I1X3x3-7=2

1+3x3—-7=3
B-147)+3=3

3x(7T=3—-1)=4

(14+3)x3-7=5

N
K

Ix(7T—3+3)=6 Ix(3-3+7=17 1+3-34+7=28 T+3:3+7=9 I+7+3)x3=10
1X7-3+3=6 1x3+3x7="7 Ix(B+3+7)=8

3-14+7-3=6 143+3x7=38

1338

1+(3-3)x8=1 1+3x3-8=2 1+(3-8+3)=3 (14+3)x3-—8=4 348+ (1+3

1x(3x3-8)=1
I1x3x3-8=1

1x (8- (343) =2

1+34+8+3=3
1+8—-(3+3)=3

(1+3+8)+3=4

y=5
3x(8+3-1)=5

(1+8)=3+3=6
3+(143)x8=6

1x8—-3+3)=7
1x8-3+3=7
3—-1+8-3=7

Ix(3—-3+8) =38
1x3+3x8=38

T+3-3+8=9
1x(3+3+8) =9
1+3+3x8=9

1+3+3+8=10

N
-

1339

A\

1x3x3+9=1 1+3x3+9=2 (1+3)x3-9=3 1+3x(3+9) =4 1+4(B3+9)+3=5
1+(3-3)x9=1 Ix(9—-34+3)=3 | 1x(B+9) +3=4 3-1+9+3=5
1+43x3-9=1 1x(9—-3-3)=3
Ix(3+9+3)=6 1+3+9+-3=7 Ix(9—-3+3) =38 IxX(3-3+9) =09 T+3-3+9=10
1x34+9+3=6 1x9—-3+3=38 1x3+3x9=9 Ix(3+3+9) =10
1+3x94+3=6 3-14+9-3=8 143+3x9=10
1344 ~
1+3x(4—4)=1 Ix(3—4+4)=2 Ix(B+4—4)=3 1+34+4—-4=4 14+34+4+4=>5
(1-3+4)x4=1 (1+3+4)+4=2 1+3-434=3 Ix(3+4+4)=4 (1+3)~4+4=5
1+44334=1 Ix3—4+4=2 I1x3x4+4=3 1+3x4+4=4
I+4-3+4=26 O+3-d)xd=7 IXx(3x4—4) =38 T+3x4-4=9 3-1f4f4=10
3x4—(144)=7 1x3x4-4=38
3x4—1—-4=7
1345
3—1+4+4—5= I1x(3+4—5)=2 1+34+4-5=3 IX(3+5—4)=4 143-445=5
3—(14+5—-4)=1 1x3+4-5=2 1+3x(4+5)=3 1+3x(5—4)=4 (1+3)+4x5=5
I+3)+4+5=6 TX(3x4-5)=7 T+3x4-5=28 T+4x(5-3) =09 I+4-3)x5=10
1x(4—3+5) =6 1x3x4—5=7 (1+4)x3—5=10
1+(4—3)x5=6
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-

1346

I1x(3+4—6)=1
1+34+4+6=1

1xXx3x4+-6=2
1+43+4—-6=2

1+3x4+6=3

3—1+6—-4=14
B-1)x(6-4)=4

I1x(3+6-4)=5

~

1x(83x4—-6)=6
1Xx3x4—-6=6
1+3—-4+6=6

1+3x4—-6=7
(14+3)~4+6=7

1+3x4x6=8
(14+3)x(6—4)=28

T+4+-3x6=9
(1+4)x3-6=9

I+3)x4-6=10
(14+4)+3x6=10

N
-

1347

1+344-7=1
Ix(3+4)+7=1

1+@B+4)+7=2
1+3+(7T—4)=2

4+-(7+3-1)
T+(1+4+3)

(1+4+7)+3=4

1x(3x4—-7)=5
1x3x4-7=5

AN

I+3x4—-7=6
Ix(3+7—4)=6

I+3-4d+7=7
(143)+4x7="7

dA+3)=4+7
Ix(4—347)

3
3
g
8
1+(4-3)x7=8

A+3)x4—7

9
1x3x(7T—4)=9

14+3x(7—4)=10
(3—1)x7—4=10

N
-

1348

(1+3+4) =8
1x(3—-8=+4)

(1-324)x8=2
(14+3)x4+8=2

(1+3+8)+4=3

1x(3x4—-8)=4
1x3x4—-8=4
1+3x(4+8) =4

14+3x4-8=5
Ix(3+8+4)=5

J
N

J

N
-

Tx3+4x8=6 T+3+4x8=7 T+3-4+8=28 I+3)=4+8=09 T+4-3+8=10
1x(3+8—-4)=7 (1+3)x4—-8=8 1x(4—3+8)=9
(1+3)+4x8=8 1+(4—3)x8=9
1349

1x(4-9+3)=1
1x4-9+3=1
(14+9+3)+4=1

1+44—-9+3=2
1x(9—(3+4)=2

1x(83x4—-9)=3
1x3x4-9=3

1+3x4—9=4
1+(34+9) +4=4

34(9-1)+4=5

N

A+4H)x3-9=6

1x(34+9—-4)=38

1+3-44+9=09
(1+43)+4x9=09

I+3)+4+9=10
1x(4—3+9)=10
14+(4-3)x9=10

N
-

1355

1+3x(5-5

y=1
3—(1+5+5) =1

1x(3-5+5)=2
1x3—-5+5=2

1x(3+5—-5)=3
1+3-5+5=3
1Xx3x5+5=3

1+34+5-5=4
1x(B3+5+5)=4
1+3x5+5=4

1+3+5+5=5

(1+5+-5)x3=6

Tx(5—-3+5)

7
(145)+3+5="7

(1+3+5)x5=38
145-3+5=28

3X5—(1+5) =09
3x5-1-5=9

1x(3x5—5)=10
1x3x5-5=10

J

N
/

1356

3—14+5—-6=1
3—(1+6-5)=1

1X(3+5—6)=2
1x3+5—-6=2

1+34+5-6=3

1x(3+6—5)=4
1+3%x(6—5)=4

1+34+6-5

Il
o

~

I+6-5)x3=6

T-3x6+56=7
Ix(5+6+3)=7
I1x546+3="7

Ix(5-3+6) =38
(14+5)+3+6=28

1x(3x5—-6)=9
1xXx3x5—-6=9

14+3x5—-6=10
1+-3x5x6=10

N
/

1357

Ix(B+5-7)=1
1x345-7=1

1+34+5-7=2

1+(B+7)+5=3
(3-1)x5—-7=3

1+3x(B5+7) =4
Ix(B+7)+3=4

1Xx(34+7-5)=5

1T+3+7-5=6
1x3%x(7—5)=6

T+3x(7—5) =7
3x5—(147)=7

1x(3x5—-7)=8
1xXx3x5—-7=8

T+3x5—-7=9
1x(B5-3+7)=9

1+45-34+7=10

N
-

1358

1+3+5-8=1
1x(3+5) =8=1

1+(@B+5)+8=2
(14+3x5)+8=2
1+3+(8—5)=2

5-8+(14+3)=3
5+(8+3—-1)=3

1+(5-3)x8=4
1x8+(5-3)=4

(1+3x8)+5

=5
1+8+(5—-3)=5

N

1x(3+8-5)=6

1x(3x5-8)="7
1x3x5-8=7

1+3x5—-8=8

1x3x(8—5)=9

T+3x(8—5) =10
1x(5—3+8)=10

J
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(1359

(143+5)=9=1
(1+3)+(9-5)=1

(14+5)x3+9=2
I1x(5-9+3)=2

1+5-9=3=3
3x(5-1)—9=3

‘971}H57®:4 ‘u+5+m+3:5

~

IXx(Bx5-9)=6
1X3Xx5-9=6

I+3x5-9=7
1x(3+9-5)=7

1+3+9-5=38

I+5)x3-9=9
1+5+9+3=9

5—(1+3)+9=10
5—-1—3+9=10

N
-

N
-

3—1+6-7=1
3—(14+47-6)=1

Ix(B+6—7)=2
1x346-—7=2

1+34+6-7=3

I1X(B+7—6)=4
1+3x(7—6)=4

1+3+7-6=5

1366 ~
1+3%x(6—6)=1 1x(3—-6+6)=2 1x(34+6—-6)=3 1+43+6-6=4 1434+6+6=5
3—(1+6+6)=1 I1x3-6+6=2 1+43-6+6=3 1X(3+6+6)=4
1+(6—3)x6=2 1X3x6+6=3 1+3x6+6=4
(1+6+6)x3=6 6—1+6+-3=7 I+3x6+6=38 I+3+6)x6=09 T+6-3+6=10
(B3-=1)x6—-6=6 6-3—1+4+6=7 Ix(6+3+6)=38 1X(6—3+6)=09
1+46+34+6=9
1367 N

T+7-6=-3=6
(1+7-6)x3=6

6r3-D)x7=7

B-1)x7-6=28

T-3x6+7=0
1x(6+3+7)=9

TXx(6-3+7) =10
146+34+7=10

N
-

1368

1x(3+6—8)=1
1x34+6-8=1

1+3+6-8=2

(1+3)x6+8=3

I1xXx3+-6x8=4
(1-3+6)x8=4

1+3+6x8=5
1x(34+8—-6)=5

AN

T+3+8—-6=6
1x3x(8—6)=6

T+3x(8-6)=7
1+48-6+3="7

1+3)x(B8—-6)=38
(6+-3—-1)x8=38

1+8)+3+6=09
(1+8—-6)x3=9

1x (3x6—8)=10
1Xx3x6-8=10

N
r

N
K

N
-

1369 \
1+434+6—-9=1 I1X3Xx6+9=2 1+3x6+9=3 (1-3+9)x6=4 1+3x(64+9)=5
I1x(3+6)+9=1 1+(B+6)+9="2 1+(B3+9)+6=3 1+6-9+3=4 I1x(6+9)+3=5
I+3)=6x9=56 I+3+9-6=7 I+3+-9)x6=28 IX(3x6-9)=9 T+3x6-9=10
1x(34+9—-6)=6 1+9-6+3=38 1Xx3x6-9=9 1+3x(9—6)=10
1379 \
1x(B34+7-9)=1 1+3+4+7-9=2 3x(O—(1+7))=3 | 1+3x9)+7=4 I1x(34+49-7)=5
1x34+7-9=1 3x(9-1-7)=3 1x(7—-9+3)=4
I1X7—-9+3=4
T+3+9-7=6 T+3x0O-7=7 A1) x0O-7=8 | U+9-7x3=09 T-3x9+7=10
1x3%x(9—-7)=6 (7T+9)+(B3-1)=8 1x(7T+9+3)=10
I1x74+9+3=10
1445 \

1+(4—4)x5=1 4—1+44-5=2 Ix(4+4-5)=3 1+444-5=4 Ix(4—4+5)=5
4-(1+5—-4)=2 I1x44+44-5=3 (1+4)x4+5=4 Ix4+4x5=5
4+ (1+5-4)=2

1+4—-4+5=6 T+4+4+5=7 I+5-4)x4=28 Af5-4)x4=09 I+4x4) x5=10

IX(4+4+5)=6 4x4—(145)=10

1+4+4%x5=6

4x4-1-5=10

N
-

1446

1+(4—4)x6=1
4-1+4+4-6=1

Ix(4+4—6)=2
I1x444—6=2

1+4+4-6=3

4x(6—(1+4)=4

A4x(6-1—-4)=4

Ix(6—4+4)=5
I1x6—4+4=5
4-146-4=5

AN

N

1x(4—4+6)=6
1X4+-4%xXx6=6

T¥4-4+6=7
1x(4+4+46)=17
144+4%x6=7

1+4+44+6=38
1x4x(6—-4)=28

T+dx(6-4) =9
4x4—-(14+46)=9

1x(4x4—-6)=10
1x4x4—-6=10
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-

1448

1+4+4-8=1
1x(44+4)+8=1
1+(4—-4)x8=1

1x4x4+-8=2
1+(44+4)+-8=2

1+4x4+8=3
1+4x(4+48)=3

1+(4+8)+4=4
(4—1)x4-8=4

4—-1+8+4

5
4+8+4—-1=5

~

Tx(@+8+-4) =6
1x4+8+4=6

T+4+8=4=7
1x(8—4+4)=7

1x(4—4+8)=38
1x(4x4—-8)=28
1x4+4x8=28

IT+4-458=09
14+44x4—-8=09
Ix(4+4+48) =9

T+4-4+8=10
(14+4)+4x8=10

J

N
-

1455

N

1+4x(5—-5)=1 (1+4+5)+5=2 1x(4—-5+5)=3 1x(445—-5)=4 1+44+5-5=5
(1-4+5)x5=1 1x4-5+5=23 1+4—-5+5=4 1x(4+5+5)=5
1+54+4+5=1 4—(145-5)=3 1x4x5+5=4 1+44x5+5=5
1+4+5+-5=6 1+5—-4+5=7 I+5=-5)x4=28 (I+4=-5)x5=9 (I+5—-—4)x5=10
(1+4)+5+5=6 (4—1)x5-5=10

J

N
-

1456

N

(4+6)=5-1=1 1x(4+46)+5=2 1x(44+5—-6)=3 1+4+5—-6=4 I1X(44+6—-5)=5
(1x4+46)+5=2 1x4+5—-6=3 1+4x(6—-5)=5
T+4-5+6=6 I+4)+=5+6=7 T+5-4+6=28 I+5)+4x6=09 TX5x(6—4) =10
(1+4)+5x6=6 1x(5—4+6)=7 (1+5)x6+4=09
1+(5—-4)x6=7

J

N
-

1457

4-145-7=1
4—(1+7-5)=1

I1Xx(A+5—7)=2
1x4+45-7=2

1+4445-7=3
(14+4x5)+7=3

14+ (B+7) +4=4
Ax(T—(1+5)=4

4—-1+4+7—-5=5
A4T7—(1+45)=5

N

IX(AFf7-5)=6

T+d-5+7=7
(1+4)+5x7=7

A+ =5+7=28
1x4x(7—5)=28

T+dx(7—-5)=9
145-447=9

A+H x(7=5)=10

(1+7)+4x5=10

N
-

1458

1x(44+5-8)=1
1x4+5-8=1

1+4+5-8=2

(1+5)x4+8=3
1x(5-8+4)=3

1+5-8+4=4

5x (8+4—1)=5

J
N

I-1+8-5=6
448—(145)=6

IXx(@A+8-5) =7

If4-5+8=3
(1+4)+5x8=38

-4 <5+8
1x(5—4+8)
1+(5—4)x8

9
9
9

1+4x5x8=10

N
-

1459

1+44+5-9=1
Ix(A+5)+9=1

1+(4+45)+9=2
1+4+9-5)=2

5—(9—-1)+4=3

5+-0+4—-1)=4
9+ (1+5+4)=4

4+-(9+5-1)=

5
9+ (1+4+5)=5

J
N

I+9)=5+4=6
4= (1+5)x9=6
(A-—1)x5-9=6

I—1+9-5=7
Ax(5-1)—9=7

Ix@+9-5) =38

T+4-5+9=0
(1+4)+5x9=09

I+4)=5+9=10
Ix(5—4+9) =10
1+(5—4)x9=10

N
-

1466

1+4x(6-6)=1

(1-4+6)x6=2
4—-(14+6+6)=2
4+(14+6+6)=2

1x(4-6+6)=3
1Xx4-6+6=3
1+-4x(6+6)=3

1x(4+6—-6)=4
1+4-6+-6=4
1x4x6+6=4

14446-6=5
I1X(44+6+6)=5
1+4x6+6=5

1+4+6+-6=6

6—(1+4)+6=7
6-1-4+6=7

Ix(6—4+6) =38
I1Xx6—-4+6=38

1+4X6%x6=9
1+46—-4+6=9

(I+4+6)x6=10
146+4%x6=10

J

N
-

1467

6+ (7T—4)—1

Il
-

14+44+7)+6
1x6=+(7—4)

2
2

1x(4+6—-7)=3
1x4+6—-7=3

1+44+6-7=4

I1X(447-6)=5
1+4x(7T—6)=5

N

N

1+44+7—-6=6

G-—(F+d)x7=7
(6—1—-4)x7=17

A+7)+4+6=

8
(1+7-6)x4=28

IX(6-4F7) =09
1x6-447=9

1+46-447=10
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(1468

~

1+-4x8+6=28

(14+4+8)x6=9
1+6+8=-4=09

1+446+8=1 IX(44+46-8)=2 I1Xx4x6+8=3 1+4x6+8=4 1+6-8=4=5
(1-6+8)x4=1 I1x4+6—-8=2 1+4+6-8=3 1+8+(6—4)=5
Ix(4+8—6)=6 1+4+8-6=17 Ix4x(8—6) =28 T+4x(8—6)=9 (1+4) x (8—6) =10

1x(6—4+8)=10

N
/-1469

J
~

1Xx(A+9-6)=T7

(A4—1)x(9-6)=9
(6—(1+4)x9=9

Ix(@A+6-9)=1 14446-9="2 (1-4+6)x9=3 (1+6+9) +4=4 1+9)+@6-4)=5
1x44+46-9=1 4x6+(9—1)=3 4+6x9-1=5
Tx4-6x9=6 T+4+-6x9=7 T+4+9-6=28 @-1)x6-9=9 I+9-6)x4=10

N
/-1479

4-147-9=
4-(149-7)

[

1

Ix(4+7-9) =2
I1x447-9=2

1+44+7-9=3

1+4x(7T+9) =4
Ix(T+9)+4=4

14 (7T+9)+4=5
4-149-7=5

J
N

IxX(Z+9-7)=6

1+44+9-7=7

Txdx(O—-7 =28

TF4x(9-7) =09

A+ x(O—-7) =10
7T4+9+(4—1)=10

N
(-1488

1+4x(8—8)=1

1+(8—4)x8=2
Ix8+(8—4)=2

I1x(4-8+8) =3
1x4-8+8=3
14+8+(8—4)=3

1x(44+8—-8)=4
1+4-8+8=4
I1Xx4x8+8=4

1+4+8-8=5
1x(4+8+8) =5
1+4x8+8=5

J
~

T+4+8-8=6
1x(8—-8+4)=6

14+8—-8+4=T7

If8=8) x4=28

8—1+8+-4=9
8+4—-14+8=9

T-4x8+8=10
1x(8+4+8)=10

N
(1557

J
~

1+(5-5)x7=1 5—1+4+5—7=2 Ix(B+5-7)=3 1+54+5-7=4 5x (T—(1+5)=5
5—(14+7-5)=2 1X54+5-7=3 5x(7T—1-5)=5
(5-1)+(7T-5)=2

IxX(7T—5+5)=6 IXG-58+7=7 T+5-5+7=3 T+5:6+7=9 TX5x(7—5) =10

I1X7-5+5=6 IX5+5x7="7 IX(B+5+7) =8

5—1+7—-5=6 1+5+5x7=8

1+5x%x(6—6)=1
(1-5+6)x6=1
1+6+5+6=1

(14+5+6)+6=2

5—(1+6+6)=3
5-1-6+6=3

1x(5-6+6)=4
1X5-6+6=4
5—(1+6—6)=4

Ix(54+6—6)=5
145-6+6=5
IX5X6+6=5

J
N

1+5+6-6=6
1X(5+6+6)=6
1+5x6+6=6

T+5+6-6=7
(14+5)+6+6=7

1+6-5+6=38

6-(b_-1)x6

=9
6x6+-(5—1)=9

(I+6=6)x5=10

N
K1567

(5+7)+6-1=1

IX(54+7)+6=2
(1x54+7)~6=2

1+(B+7) =6
1x6=(7—05)

Ix(54+6-7)=4
IX54+6—7=4

Ix(5+7—6)

6
14+5x%x(7T—6)=6

T+5-6+7=7
(1+5)+6x7="7

I+5)+-6+7=
I1x(6—5+7) =
14+(6—5)x7=

1+6-5+7=9

(I+7—6)x5=10

J

N
K1568

6+(8-5)—-1=1

I1X6=(8-5)=2

1x(5+6-8)=3
1x5+6—-8=3

1+5+6-8=4

5X (8= (1+6)=5
5x(8—-1-6)=5

N

5-1+8-6=6
54+8—(1+6)=6

N

Tx(5+8-6) =17

1+5-6+8=3
(1+5)+6x8=8

A+5)=6+8=9
1X(6—5+8)=09
14+(6—-5)x8=9

TXB5x(8—6) =10
146—-54+8=10
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(1577

1+5x(7T—7) =1

1-5=7)x7=2
G+7) = (7T—1)=2

A1+7+7)+5=3
5—(147+7)=3

Ix(B-T+7) =4
IX5—7+7=4
1+7)+(7T—5) =4

Ix(B+7-7)=5
1+5—-7+7=5
IX5XT+7=5

~

T+54+7-7=6
IX(B+7+7)=6
1+5X7+7=6

1+54+7+7=7

T—(1+5)+7=3

7T—1-54+7=28

IX(T—56+7) =09
1X7—547=9

1+7-5+7=10

1+6x(8—8)=1

(1—6+8)x8="2
(6+8)+(8—1)=2

6+(14+8+8)=3
8+ (8-6)—1=3

1+(8-6)x8

=4
1x8+(8—6)=4

(1579 \
G+9)+7-1=1 1x(B+9)+7=2 1x(B+7-9) =3 1+54+7-9=4 1+9)+(7—5)=5
(1x54+9) +7=2 I1x54+7-9=3 (14+5x7)+9=14 5x(9—-(1+7)=5
5x(9—-1-7)=5
5—14+9-7=6 I1xbB+9-7)=7 1+5+9-7=38 1+9)+54+7=9 1x5x(9—-7)=10
549—-(14+47)=6 5x(9-7)—-1=9
(7T—(1+5)x9=9
K1668 \
1+(6—-—6)x8=1 6+-(1+8—-6)=2 1x6+(8—6)=3 1x(6+6—8)=4 1+46+6—-8=5
1x64+6—-8=4
6x(8—(1+6)=6 1x(8-6+6)=7 1x(6—-6+8)=38 1+46—-6+8=9 1+46+6+8=10
6xXx(8—1—-6)=6 1x8-6+6=7 1xXx6+-6x8=8 1x(6+-6+8) =9
6—-1+8-6=7 1+6+-6x8=9
(1678 \
6+8)+7—-1=1 I1x(6+8)+7=2 1+(64+8)+~7=23 (1+7)+(8—-6)=4 1x(64+7—-8) =5
1x6+8)+7=2 6+(14+8-7)=3 6—-14+7—-8=4 1xXx6+7—-8=5
6—(1+8-7)=4
1+6+7—-8=6 1x(6+8-7)=7 1+46-74+8=38 (1+6)+-7+8=9 1+47-64+8=10
1+46x(8-7)=7 (1+6)+-7x8=38 1x(7T—6+8)=9
1+ (7—6)x8=9
/1688 \

Ix(6-8+8)=5
I1x6—-8+8=5
148+(8—6)=5

ITx(6+8—-8)=6
1+6-8+8=6
1Xx6x8+8=6

T+6+8-8=7
1x(6+8+8) =7
1+46Xx8+-8=7

1+6+8+8=38

8—(1+6)+8=9
8—1-6+8=09

TX(8—-6+8) =10
1x8—6+8=10

N
/-1779

14+ (7T—7)x9

Il
—

T+9)+1+7)=2
Tx(9+7T-1)=2

(T-1)=(0-7)=:

14+47)=0-7) =4
T-1%7-9=4
T-(14+9-7)=4

Ix(T+7-9)=5
IX7T+7-9=5

J
)

1+74+7-9=6

TXO-1+7)=7
TxO-1-7)=7

IxO—-7=-7=28
1x9-727=8
7-149-7=38

1Xx(7T—-749) =9
IX7+7%x9=9

T+7-7+9=10
Ix (7T+7+9) =10
147+7x9=10

N

(,1789 ~
(T+9)+8—-1=1 Ix(7T+9)+8=2 14+(7T+9)+8=23 1x8+(9—7)=4 1+8+(09—T7)=5
(I1x7+9)+8=2 7—-14+8-9=5
7-(14+9-8)=5
Ix(7T+8-90)=6 T+7+8-9=17 Ix(7T+9-8) =28 1+7-84+9=29 I+7)=8+9=10
I1X7+8-9=6 1+7%x(9—8)=8 (1+7)+8x9=09 1x(8=7+09) =10
1+(8-7)x9=10
(,1799 ~N
1+7x(9-9) =1 (1-7+9)x9=2 9+(149-7)=3 9O-1)=(O9-7=4 | 149 =(09-7) =5
(7T+9)+(9—-1)=2 7T—(149+9) =5
7-1-9+9=5
IxX(7T—9%9) =6 IxX(T+9-9)=7 I+7+9-9=23 T+7+9=-9=09 9-—(1+7)+9=10
1X7-9+9=6 147-9+9=7 Ix(7T+9+9) =8 9-1-7+9=10
7T—(14+9-9)=6 IX7xX9+9="7 1+47x9+9=38
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(2223

24+2+2)+3=1
2+(2x(3-2)=1

2x(242-3)=2
24+ (2-2)x3=2
2x(2x2-3)=2

2+2+2-3=3
24+2x2-3=3

2—-2+2+3=4
242x(3-2)=4
2x2x(3—-2)=4

242-243=5
24222x3=5
2x(2+2) —3=5

2x(2-243)=6
2+2+243=6
2X2+2%Xx3=6

2r2+2x3=17
2x(243+2) =7

2x (2+2+3) =8
2x(2x3-2)=38
2x(243)—2=8

2+2+4+2+3=9
2+2x2+3=9

24242%x3=10
2x24+2x3=10

N
(2224

2-2x2+4=1
2-(242)+4=1

2X2x2+4=2
2424+2—-4=2
2Xx(242)+4=2

2x(2-2+4)=3
24+2x2+4=3
2+ (2+2)+4=3

2x(2+2)—4=4
2X2x2—-4=4

2x(242+4)=5
2-2+244=5
24+ (2+4)+2=5

2+2+2+4+4=7

2x(2—-2+4)=38
2X2+2x4=28

2+-24+2x4

=9
2x442+2=9

2+2+2+4=10
24+2x2+4=10

24242-5=1
242x2-5=1

2x(5b—(2+

2% (2+42)—5=3
2x2x2-5=3

2+2+5—-2=4
2+(5+2-2)=4

2x(2—-2)+5=5
(2-2+2)x5=5

2-2-2+5=6
(2+2x5)+2=6

24+2+2+4+5=8

2X(2+5+2) =9

2X(2—2+5) =10
2x2+2x5=10

N
/-2226

24+2+2)+6=1
24+2x2)+6=1

24+ (2-2)x6=2
2x(24+2)—6=2
2X2X2—-6=2

2+-(2x2+6)=3
2+(242)x6=3
2+ (2x2)x6=3

2-2+4+6-2=4
2+2x(6-2) =4
2+2+4+6+2=4

(24246)=2=5
2:246-2=5

AN

2Xx(2-2)+6=6 2-2:2+6=17 2+2-2+6=28 2+2:2+6=9 2+2x (6—2) =10
(2-2+2)x6="6 24246+2=7 242+2x6=28 2% (24+6+2)=10
(2+42x6)+2="7
(—2227
2x(2+2) —7=1 24 (2-2)x7=2 2x (7T+2-2)=3 2+24+7)+2=4 2-247-2=5
2x2x2-7=1 (T-2+2)+2=3 T-(242+2) =4 2:2x(7T-2)=5

2:24+7-2=6
2x(T—(24+2)=6

IXx (2= +7

7
(2-2+2)x7=17

2-2:217=328
(2+2x7)+2=8

242-247=9
24+2+2x7=9

2+2+24+7=10

24 (2-2)x8=2

(24+8+2)+2=3
2+8)+2-2=3
8+2—-2+2=3

2+(2x2+8)=4
2+ (2+2)x8=4
2+ (2x2)x8=4

2:248+2=5
24+ (8-2)+2=5
8—(24+2+2)=5

2F+2+8)-2=6
2-24+8-2=6
2+2x(8-2)=6

2F(2+8)+2=7
2:248-2=7

2x(2—-2) +8

=3
(2—2+2)x8=38

2-2:2+8=9
(2+2x8)+2=09

2+2-2+8=10
24+2+2x8=10

N
/2229

9-2x(24+2) =1
9-2x2x2=1

24 (2-2)x9=2

9—(2+2+2)=3
9—(2+2x2) =3
9+ (2+4+2+2)=3

9—-—2+2)+2=14

2+249) =2

5
2x(9+2-2)=5

9-(2+2-2 =6
9-2:2-2=6

2—-2+4+9-2=7
2+2x(9-2)=7

2:2+9-2=38
(2x9-2)+2=8

2x(2-2+9=09
(2-2+2)x9=9

2-2:2+9=10
(2+2x9)+2=10
2% (9—(2+2) =10

N
r2233

2+ (2+3-3

)=1
2+(2x3+3)=1

2+2x(3-3)=2
2x(2-3+3)=2
2:243+3=2

24+2-3+3=3
2x2-3+3=3

242+3-3=4
2x(24+3-3)=4
24+2x3+3=4

2x(2+3+3)=6
2x(2x3-3)=6
2-243+3=6

N

2X(2+3)—3=17
2+24+3+3=7

(2+2+3)x3

=3
2x(3-2+3)=8

2Xx2x3-3=9
2—-243%x3=9
2+2x3x3=9

24+243+3=10
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(&234

2+ (2x3—4)
2+2+3)+4

=1
=1
2+ (2x(4-3) =1

2x(24+3-4)=2
(2+2x3)+4=2
2:244-3=2

2Xx2x3+4=3
24+243-4=3

2+2x3—-4=4
2x(2x3—-4)=4

24+2-3+4=

5
2x2-3+4=5

~

2X(2+3)—4=6

3-2f3+4=7
2:2x(344)=7

IX2x3-4=28
2:24+3+4=28
(2+2)x3-4=8

2x(2+4) —3=9

2x(2x4—-3)=10
2% (3—-244)=10
(2+43)+2x4=10

N
(2235

2—-(243)+5=1 24+2+3-5=2 24+(2+3)+5=3 (2+2x5)+3=4 2x(2+3)—-5=5
2-2+(5-3)=1 2x (2+43)+5=2 24+2x3-5=3 2+-(3-5+2)=4 (242-3)x5=5
2x(2x3—-5)=2 (2-2)x3+5=5
2+2-3+5=6 2Xx2X3-5=7 2-2+3+5=38 2+-2+3+5=9 2x(3-2)x5=10
2x2-3+5=6 (242)x3-5=7 2+2x (3+5)=8 242x5-3=9
(—2236
2-2x3+6=1 2x2x3+6=2 2x(2-3+6)=3 2x(243)—-6=4 2x(2+43+6)=5
24+2+3-6=1 24+2x3—-6=2 2+2x3+6=3 2+2+6-3=4 (2-2+6)x3=5
2+2+-3%x6=6 2+2-3+6=7 2Xx2+3x6=38 2—-2+3+6=09 2:2+3+6=10
2Xx2X3—-6=6 2Xx2-3+6=7 (2-2+3)x6=38 2+2x%x (3+46)= 2x(24+46—3)=10
(2+2-3)x6=6
/—2237
2+2+43)+7=1 2x (T—2x3)=2 x(2+3)—-7=3 2-247-3=4 2X2x3-7=5
24+2x3-7=1 3+ (7T+2-2)=2 @—ax7+3= 2+2x(7-3)=4 (242)x3-7=5
2x (2+7) +3=6 2+2-3)x7="7 2+2-3+7=8 2+(B3-2)x7=9 2-2+3+7=10
2+3x(24+7) =6 (2-2)x3+7="7 2x2-34+7=8 2x7—(243)=9 2+2x (34+7) =10
2x2=-3)x7="7

N
K2238

(2+2x3)=8=1

2x(2+43)—8="2

(2-2)x8+3=3
2+2+48)+3=3
248+2-3=3

2X2x3—-8=4
(24+2)x3—-8=14

2-248-3=5
2:2x(8-3)=5

2+2x8) 3=
2+24+8-3=6

2x3+8)+2=7
3-248-2=7

2+2-3)x8=38
(2-2)x3+8=38
(2x2-3)x8=38

2+2—-3+8=9
2x2—-34+8=9

2¥(3-2)x8=10
2x3+8+2=10

N
/2239

2x(2+3)—9=1
242-9+3=1
2x2-9+3=1

2x(9+3-2)=2
9-(24+2+3)=2

2+(2x3+9)=3
2x2x3-9=3
2+(2x3)x9=3

2+2+9+3=4
2+:3x9-2=4
(2+9-3)+2=4

24+9-2x3=5

2-2+9-3=6
2:2x%x(9-3)=6

24+24+9+3=7
2Xx24+9+3=7

24+2+-3x9=8
2+2%x9+3=8

2+2-3)x9=09
(2-2)x34+9=9
(2x2-3)x9=29

24+2-34+9=10
2x2-3+9=10

\
(-2244

2+ (24+4-4)=1
2+(2x4+4)=1

242x(4—4)=2
2x(2-4+4)=2
(2+2+4)+4=2

242-4+4=3
2x(244)+4=3

242+4—-4=4
2x (24+4-4)=4
24+2x4+4=4

2+2+4+4
2x2+444

5
5

U\

2x(2+4+-4) =6
242x4-4=6

IX(A—2=4) =7
(244)+2+4+4=7
4—2+2+4+4=7

2x (2x4—-4)=38
2x(2+4)—4=8
2—-2+4+4=28

X (244 =9
2+2+44+4=09

2+2+-4)x4=10
2+ (4-2)x4=10
2+4+2x4=10

NS
/-2245

2+2+4)+5=1
2+(2x(-4)=1
2-245—-4=1

2x(24+4-5)=2
(2+2x4)+5=2
2:245-4=2

24+2+4-5=3

24+2x(5—4)=4
2x2x(b—4)=4
2+2)x(5—4)=4

24+2x4-5=5
2X2+4x5=5

L

2x(2x4-5)=6
2x2+4+5=
(2+42)+4+5=6

Ix(2+4) —65=7

2+2x5-4=28
(2+4)+2+5=

2-2+4+5=9
2+2x(445)=9

2:r2+4+5=10
2x(245)—4=10
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(2246

2+24+4-6=2
2x (2+44)+6=2

24+ (244)+6=23
242+ (6—4)=3
2:246-4=3

2+2x4-6=4
2x(2x4—-6)=4

2x(2+4)—6=6

IXx2+4+6=7
(242 +4+6=7

2x(2+6—4) =38
2x2x(6—4)=38

2-2:4)x6=9
(2+4)+2+6=9
244+6+2=9

2X2x4—-6=10
2—-24+446=10
2+2x (4+6)=10

N
(2247

2+244-7=1
2x244-7=1

2x(2x4-T7)=2
2+247)+4=2

242x4-7
4

3
2—-247-— 3

2+2x7)+4=4
2+247-4=4
(2-2)xT7+4=4

2x(244)—7=5

2x(7—2)—4=6
2XT7T—-2%x4=6

2X2+4XT=T7
24+2—-4+4+7=7

Ix2+4F+7=28
(24+2)+4+7=28

2X2x4-7=9
2+4+2)x4—-7=9

2Xx (2+7-4) =10
(244)+247=10

N
K2248

2—-2x4+8=1

2X2x4+-8=2
242x4-8=2

2x(2—4+8)=3
2+2x4+-8=3

2x(244)-8=4
2-248—-4=4
2+2x(8—-4)=4

2x(24+4+28)

=5
2% (24+8)+4=5

(2x9—-2)+4=4

2-2+8)x4=T7 2X2+4x8=8 2X2+448=9 24+2x(8—4)=10

2+4+8)+2=7 2x2x4-8=8 2+2)+4+8=9 24+44+8+2=10
242x4-9=1 2x(9—2x4)=2 2x(24+4)—-9=3 (2-2)x9+4=4 2+2x9) +4=5

9-2+2)+4=2 2+(2+4)x9=3 2+-(9+2-4)=4 2—-2+4+9-4=5

2:2x(9-4)=5

2:2+9-4=6
2x(9—-(24+4) =6

2X2x4-9=7
242)x4-9=7

2+-(9+4-2)=38
2x(9—-4)—-2=8
9—-2%x2+4=28

2X2+4%x9=

9
24+2—-449=9

2x2+4+9=10
(242)+4+9=10

2+2x (5-5)=2
2x(2-5+5)=2
2:245+-5=2

242-5+
2x2-5+

oo
Il
w w

242+5-5=4
2x(2+5-5)=4
242x5+-5=4

2+2+5+5=5
2X245+5=5

2Xx(24+5+5)=6
(2+5+5)+2=6

24+2%x5—-5=7

2—-2:5)x5=28

IX(2+5)—5=09

2x(2x5—-5)=10
2—-24+5+5=10
2:2x (545) =10

N
(2256

(2+245) +6=1
2+ (2% (6—5) =1
2—-246-5=1

2x(245-6)=2
(2+2x5)+6=2
(24+2+6)=5=2

2+2+5-6=3

2xX2x(6—

24+2x(6-5)=
5)
(242) x (6 —

4

2+2+6-5=5

A\

2+t2x5-6=6
(2-2)x54+6=6

2X5—-6+2=7
2xX(6-5+2)=7
5—(2+42)+6=7

2x(2x5—-6)=38
2x(2+5)—6=28

2+2%x6-5=9

2+5+6+-2=10

N
/-2258

2+ (2x5-8)=1
242+5-8=1

2x(5—8+2)=2
2% (8—(2+5)) =2
2x(8-2-5)=2

2-24+8-5=3
2+2x%x(8—5)=3

2+2x5—-8=4
2x(2x5—-8)=4

2+(2—-8+5)=5
(2-2)x8+5=5

AN

2x(215)—-8=6

24+248-5=7

2-2)x5+8=23

2x5+8)+2=09
2x8—(245)=9
2x8-2-5=9

IX(2+8-5) =10

N
K2259

24+2+5)+9=1
(2x24+5) +9=1

2x(2x5—-9)=2
2+249) +5=2

24+2%x5—-9=3

(2+2x9)+5=4
2-249-5=4
2+2x(9-5)=4

2x(245)—-9=5
2:249-5=5
(2-2)x94+5=5

2+(5
2x (9

2)x9=26
5)—2=6

5+24+9+2=7

2+2+9-5=28

2—2)x5+9=9
24+ (5+9)+2=09
2x(9—-2)—5=9

24+2x%x(9-5)=10
2+(2—-9+5)=10
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(2266

2+ (24+6-6)=1
2+(2x6+6)=1

242x%(6—6)=2
2x(2-6+6)=2
2+24+6+6=2

24+2-6+6=3
2Xx2-6+6=3

2+2+6—-6=4
2x(2+6—-6)=4
2+2xXx6+-6=4

24+24+6+-6=5
2Xx2+6+-6=5

~

2Xx(2+6+6)=6
(2-2)x6+6=6

2+6+6)c2=7
6+-2-24+6="7

2+2X6—-6=28

2X6—-6+2=9
2x6+6)+2=9
6+-(2x2+6)=9

0

IX(2+6) —6=1
=10

(2—2+6)%x6

(2+247)+8=1
2+ (2x(8-7)=1
2-2+48-7=1

2x (247-8)=2
(2+2x7)+8=2
2:248-7=2

2+2+4+7-8=3

242x(8-7)=4
2xX2x(8=-7)=4
24+2)x(8—-7)=4

2+2+8-7=5

(2267 \
2+2+6)+7=1 2x (24+6-7)=2 242+6-7=3 24+2x(7T—6)=4 2424+7-6=5
2-(2x(7-6)=1 (242x6)+7=2 2x2x(7T—6)=4
2-247-6=1 2+247-6=2 (242) x (7T—6) =4
IX(2+7-6)=6 2F2xX6-7=17 Ix(1—6:2) =38 IX(2+6) —7=9 Ix (2x6-7) =10
(2-2)x74+6=6 (2-2)x64+7="7 6+-2-247=28 242x7-6=10

K2268 \
2-(24+6)+8=1 24+2+6-8=2 2Xx2x6+-8=3 2+ (6-2)x8=4 (2x8—6)+2=5
2-2+(8—6)=1 2% (24+6)+8=2 2+ (2+6)=8=3 246-8=-2=4 (6+8=-2)=2=5

2x (6-8+2)=4 (6+8)+2-2=5

242Xx6-8=6 248-6+2=7 2x(2x6—-8)=38 24+ (6+8)+2=09 (2x6+8)+2=10
2424+8—-6=6 6+-24+8+-2=17 2x(246)—8=38 6+-2—-24+8=9 2x(8—6+2)=10
(2-2)x6+8=8 6—(24+2)+8=10

(’2269 ~
2+246-9=1 2x(9—(2+6)=2 | 2-2+9-6=3 2+ (2-926)=4 242%x6-9=5
2x246-9=1 2Xx(9—-2-6)=2 2+2x(9—-6)=3 2+-249-6=4 242+6%x9=5
2x (2x6—-9)=6 2x(24+6)—9=7 24+2x(9—-6)=38 2-2)x64+9=9 2x(24+9-6)=10
2X2+6X9=6 24249-6=7 2x(9—-2)—-6=38 6+2-2)x9=09

2x(249+6)=7 24+49—-6+2=28

K2277 \
2+ (247-7)=1 242x(7T=T7)=2 242-7+7=3 24247 -7=4 2424+7+7=5
2-2xT7+7)=1 2x2-T7T+7)=2 2X2-7+7=3 2x (247-7)=4 2X247+7=5

252477 =2 242XxXT7+7=14
2Xx (24+7+7)=6 2-2)x747=7 2+74+7)+-2=38 242XxX7-7=9 T—(2+2)+7=10
2X (T—-7+2)=7 T—2x24+7=10
7-2-247=10

(—2278 N\

2X(2+8-7)
)

6
2x(7T—8+2)=6

2—-2)x8+7=7
2x8—(247)=7
2Xx8-2-7=7

2f2x7-8=28
(2-2)x7+8=8

2Xx (8-7+2) =9
7-2+48+2=9
TH+8+(2+2)=9

2X (2+7) —8=10

N
/-2279

2-(247+9=1
2-2+(9-7)=1

24247-9=2
2x (247)+9=2

24+ (247 +9=3
242+(09-7)=3
2+249-7=3

2X9—-2%xT7=
(7T+9) +-(2+2) =4

2x(7T—9+2)=5

AN

N

24+249-7=6 24+2X7T-9=7 2x (24+9-7)=8 2X(247)—9=9 2x (2x7-9)=10

242%x(9-7)=6 2-2)x94+7=7 2xX2x(9-7)=38 2-2)x7+9=9 24 (7+9)+2=10
/-2288 \

2+-(2+8-8)=1 24+2x(8—8)=2 24+2-8+8=3 2+24+8-8=4 2+24+8+8=5

2+-(2x8+8)=1 2x(2—-8+8)=2 2x2-8+8=3 2x(2+8—-8)=4 2Xx2+8+8=5

2+248+-8=2 2+2x8+-8=4

2X(2+8+8)=6 8—24+8)+-2=7 (2—2)x8+8=218 2+8+8)+2=9 2+2x8—-8=10

2x8—-(24+8)=6 2x(8—-8+2)=38

2x8—-2—-8=6
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(2289

(2+2+8)+9=1
2+-(2x(9-8) =1
2-24+9-8=1

2x(24+8-9)=2
(2+2x8)+9=2
2:249-8=2

2+2+8-9=3

242x(9—-8)=4
2x2x(9-8)=4
(2+2)x(9—8) =4

2424+9-8=5

~

IX(2+9-8)=6

IX(B8—-0=2) =7
249-8+2=7

2-2)x9+8=23
2x9—(248) =8
2x9-2-8=38

2+2x8-9=9
(2-2)x84+9=9

IX(9—8=2) =10

2-(3+3)+6=1
2-3+(6-3)=1
2+3x6-3=1

24+3+3-6=2
2x(343)+6=2
24+(3-3)x6=2

2X3xXx3+6=3
24+ (3+3)+6=3

2x3+6+3=4
2x3-6+3=4
(2x3+6)+3=4

2x(3-3+6)=5
243x3-6=5

2299 N
2+ (249-9)=1 2+2x(9-9) =2 242-9+9=3 2+24+9-9=4 24249+9=5
2+(2x9+9)=1 2% (2-9+9)=2 2x2-9+9=3 2% (2+9-9)=4 2x24+9+9=75

2+2+9+9=2 2+2x9+9=4
2x(2+9+9)=6 2x9-(2+9) =7 O-2+9+2=8 2-2)x9+9=9 E+9+9)=+2=10
2x9-2-9=7 2x(9-9+2)=9

2883 N
2x3+(3+3)=1 2+3x(3-3)=2 2x(3-3)+3=3 2+43-3+3=4 2+43+3-3=5
2+(3-3+3)=1 3-2+3+3=2 (2-3+3)x3=3 2x(3-3+3)=4 243x3+3=5

(2x3+3)+3=3 24+ (3+3)+3=4
2x(3+3-23)=6 2x3+3+3=7 2x(3+3+3)=8 2x(3+3)—3=09 3-2+3x3=10
2+43+3+3=6 (3-2+3)x3=7 243x3-3=8 (2+3+3)x3=9 3x3-2+3=10
2x3x3+3=6 3-2+4343=7 (2x3-3)x3=09

288 ~
2+(3+3-4)=1 24+ (3-3)x4=2 2x(3+3)+4=3 2+3+3-4=4 2-3+3+4=5
(2+4-3)+3=1 (2+3+3)+4=2 (2+3+4)+3=3 2x (3+3-4)=4 2x3+3-4=5
(2+4)+(B+3)=1 243x(4-3)=5
2+3-3+4=6 2+3x3-4=7 2x(3-3+4) =8 2+4-3)x3=09 2% (3x3—4) =10
2+3+3x4=6 2+3+34+4=7 2x3+3x4=8 2x4+3+3=9 2% (3+3+4)=10

2835 ~
2+5-3-3=1 2% (3+3—5)=2 2+3+3-5=3 2x3+3-5=4 2x (3-3)+5=5
2x(5-3)-3=1 24 (3-3)x5=2 (2+3)x3+5=3 (2+3)+5+3=4 (2-3+3)x5=5
(2-5+3)x3=1
2+3x3-5=06 2+3-3+5=7 2x(3x3-5) =8 2x5-3+3=9 2% (3-3+5) =10
2-3+345=6 243+3x5=T7 2+3+3+5=38 3-2+3+5=09 2x3+3x5=10

2x(3+43)—5=7

(—2336 I

2X (3X3—6)

6
2x(343)—-6=6

2X(3+3+6)=7
2-3+346=17
2434+46+3=7

2+3+3+6=9
(24+3)x3—-6=9

(243)+3x6=10
2x(3+6+3)=10

N
/-2337

2+ (3x3-7) =1
243+43-7=1

24 (3-3)x7=2
2x34+3-7=2
2x (T—(3+3) =2

2:(3-7+3)=3
2:347+3=3
247-(3+3)=3

24+3x3-7=4
2x (B3x3-7)=4

2x(343)—7=5
2X7-3x3=5

J
~

N

(24+7)+-3+3=6 2x(3=-3)+7=T7 2-3+34+7=8 24+3-34+7=9 243+3+7=10
3+2x(71—-3)=6 2-3+3)x7="7 (243)x3—-7=8 243+-3x7=9 2x3-34+7=10
/-2338 \
(24+3+3)+8=1 24+ (3-3)x8=2 24+3x3—-8=3 2x(3+3)—8=4 B3-2)x(8-3)=5
2x34+3-8=1 2x(3x3—-8)=2 (83-=2+4+8)+3=3 24+8—-(3+3)=14 3-2)x8—-3=5

2XxXx(8—-(34+43) =4 I3IX3—-8+2=5

2+-(3—-8+3)=6 (243)x3-8=7 2x(3—-3)+8=38 2-3+34+8=9 2+3-34+8=10

3—2+8—-3=6 2x(8-3)-3=7 (2—3+3)x8=38 248-3+3=9 24+3+3x8=10
2Xx8—-3x3=7
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(2339

2x(9-(34+3)=6

2x(349)+3=38

(2-3+3)x9=29

2-3x3+9=1 2x3x3+9=2 243x3+9=3 2+3x(9-3)=4 (2-3+9)x3=5
2+3+3+9=1 24 (3-3)x9=2 2x(34+3)—-9=3 24 (9-3)+3=4 (2x3+9)+3=5

243x3-9=2 2x(9-3)+3=4 24+49-(343)=5
2+3)x3-9=6 2+3+-9)x3=7 2+3x(3+9) =38 IX(3-3)+9=09 2-3+3+9=10
2+ (3+9)+3=6 (2x9+3)+3=7 243+9+3=28 2x3x3-9=9 249-3:3=10

2+3+4-8=1

2x34+4-8=2
2x(3—8+4)=2
2% (8—(3+4)) =2

2x3x4+8=3

2X3—-8+4=4
2x4+843=4

(2344 \
2+ (3-4+4)=1 24+3x(4—4)=2 2x(4—4)+3=3 243-4+4=4 24+3+4-4=5
2x4—(34+4)=1 3-(2+4)x4=2 (2-4+4)x3=3 2x(3—4+4)=4 243x4+4=5
2x4-3-4=1
2x (3+4—-4)=6 2X34+4+-4=7 2x(3+4+4)=38 2Xx4—-34+4=9 24+3x4—-4=10
243+4+4=6 24+4-34+4=7 (2x3—-4)x4=28 (24+4+4)x3=9 2x (34+4)—4=10
2x3x4+4=6 2x(4—-3)x4=238

K2345 \
2+ (34+4—-5)=1 (2x3+4)+5=2 2+4)+(5-3)=3 24+34+4-5=4 (2+3-4)x5=5
2+ (34+5)x4=1 (2+4-5)x3=3 2x (34+4—5)=4 2x34+4—-5=5

2x5—(3+4)=3 243x(5—4)=5
2:3x(4+5) =6 2x3—4+5=7 2x (3+5—4) =38 2+3x4-5=9 2x3—4)x5=10
24+3-44+5=6 24+4-3+5=38 2x(3+4)—5=9 2x(4—-3)x5=10

(2346 \
2+ (3x4+6)=1 2x (3+4—6)=2 243+4—-6=3 243x4+6=4 (24+3x6)+4=5
2+ (3x4)x6=1 24+4)+(6-3)=2 2Xx3x4+6=4 2x3+6+4=5
2:3+4x6=1
2+3-4)x6=6 2+3-4+6=17 2+3x4—-6=28 2X3+4x6=9 2X (34+6—4) =10
(2-3+6)x4=6 2x (3+4)—-6=8 2+3+6)x4=10
2X4—-6+-3=6

/2347 \
2-(3+4)+7=1 24+3+4-7=2 24 (34+4)+7=3 2x4+3-7=4 2x(3+7)+4=5
2-3+(7T—4)=1 2x (34+4)+7=2 2x34+4-7=3 2:4x(347)=5

243+ (7T—4)=3
2x7+4)=3=6 2+3x4—-7=17 2+3-4+7=28 2Xx3—-4+7=9 2Xx (3x4—7) =10
3+-(4—-7+2)=6 2x (34+4)—7=7 244-34+7=10

(—2348 N\

2x(3-4+8) =5
2x(8-4)—3=5
3-24+8-4=35

2+3x4-8=6
2x (3+4)—8=6

2Xx(3+4+8) =7
243+4+8+4=7

2x(3x4—-8)=38
24+3+4%x8=8
2:3x(44+8) =8

243—-4+8=9

2-3:4)x8=10
(2+43)+4x8=10
2x3-4+4+8=10

N
/-2349

(2+43+4)+9=1
2x3+4-9=1

2:3x9-4=2
(244)x3+9=2

244-9+3=3
2+4%x(9-3)=3

249-(3+4)=4
2% (9—(3+4)) =4
24+9-3-4=4

24+3x4—-9=5
2x(34+4)—-9=5

AN

IX(B3x4-9) =6
2x (3+9)+4=6

Ix(9-4)—3=7
(4-3)x(9-2)=7

2x(9—-3)—4=28
3+4+9)+2=38

2¥3-4Hx9=09
(2+4)x3-9=9
244+9+3=9

24+3-4+9=10

N
K2355

2+(3-5+5)=1
2+-5+3+5=1
(24+5+5)+3=1

243x%x(5—5)=2
(243+5)+5=2

2% (5—5)+3

=3
(2-5+5)x3=3

243-5+5=4
2x(3-5+5)=4

24+3+5-5
5

5
24+3X5+ 5

2x(3+5-5) =6
243+5+5=6
2x3x5+5=6

2—3+5)x5=17
2x3+5+-5="7

2Xx(3+5+5) =8
2x5+3—-5=8

2+5-3+5=9
2x(5-3)+5=09

B-—2)x(5+5) =10
(3—2)x5+5=10
(3x5+5)+2=10

J
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(2356

2+ (3+5—6)
2x5—(3+46)

1
1

(2—-5+3)x6=2
2:6+5+3=2
3-246-5=2

(2+5—-6)x3=3
(2x6+4+3)+5=3

24+3+5-6=4
2x (34+5-6)=4

2X3Xb5+6=

ot

24+3-5+6=6
(24+3)+5x6=6
(2x3—-5)x6=6

2+3)=5+6=7
2Xx3-5+6=7

Ix(3+6-5 =28
2x5—-6+-3=8

2:3x6+5=0
2x(5—3+6)=9
2454+6+3=9

Ix(3+5) —6=10
24+5-34+6=10

2x(9—3—-5) =2

2x5—-9)x3=3

2x(5—9+3)=4

(2357 \
2+ B+7)x5=1 2X (3+45—7)=2 24+34+5-7=3 2x34+5—-7=4 3+(2-7+5) =5
2x5+(B+7) =1 3—(24+5)+7=2 24 (347 +5=4 5x (7T—2x3)=5

2x (34+7)+5=4
2X5+3-T7T=6 24+3-5+T7=7 2+-3x(5+7) =8 2Xx(3+5)—7=9 24+3x5—-7=10
24+ (5+7)+3=6 (243)+5xT7="7 (2+3)+5+7=38 2x5-7)x3=9 2% (3+7—5)=10
2x3=5B)x7="7 2x3-54+7=8

K2358 \
2-(34+5)+8=1 24+3+5-8=2 2+ (3+5)+8=3 3-248—-5=4
2-3+(8—5) =1 2% (3+5)+8=2 2x34+5-8=3 (3-5+2)x8=4 (245+8)=3=5

24+3+(8-5)=3
2x5+8)=3=6 (2Xx8+5)+3=7 2X(3+5) —8=28 2+3x5-8=09 5r3x (8—2) =10
(2x5-8)x3=6 3:2x8-5="7 243-5+8=38 (24+3)+5+8=9 5x (8—2x3)=10
(2+8) x3+5=6 (243)+5x8=28 5x (8—2)=3=10
r2359 \
24+34+5-9=1 2X34+5—-9=2 2x349)+5=3 2Xx54+3-9=4 2x(9—-5)—-3=5
2+3x9-5=1 2x(9—B+5)=2 | 2-5+3)x9=3 245-9+3=4 3-24+49-5=5

3+-2x(9—-5)=6
3+(6—-9+2)=6
3x(9—-(24+5)=6

2X(3+5)—9=17
2x5-9+3="7

24+3%x5—-9=28

2+3-5+9=9
(2+43)+5x9=9
(2x3-5)x9=9

(2+3)=5+9=10
2x3-5+9=10

N
(2366

3—6+6)

2+ ( 1
2x(6-3)+6=1

243x(6—6)=2
(2x3+6)+6=2

2x(346)+6=3

24+3-6+-6=4
2x(3-6+6)=4

2434+6-6=5
243x6+6=5

J
~

2X(3+6—-6)=6

2X3+-6+6

=7
2X34+6+-6=7

2X(3+6=6) =38

2-3x6)x6=09
2x64+3-6=09

2+-3xXx6+6=10
2+6+-3+6=10

2+ (34+6-7)

1
24+7-3)+6=1

2+3+7)+6=2
2X6—-(3+7) =2

2x6+(7T—3)=3
(24+6—-T7)x3=3

2434+6-7=4
2x(34+6-7)=4

2xXx34+6-7=5
243x(7—6)=5
(2+3)x(7T-6)=5

J
~

2+3+7-6=6
2x3x(7T—6)=6

2X3+6XT7T=T7
2X3—-647=7

2Xx3+6+7=28
2x(347-6)=38

2+7)+3+6
(24+7-6)x3

9
9

X (7T—6+3) =10
6x(7T—2)+3=10

N
/-2368

2x6—(3+8)=1
2x6-3-8=1

2x(34+6-8)=2
2:3+8+-6=2

24+3+6-8=3

2x34+6-8=4
(246)-8+3=4
2x(8—3)—6=4

(2+8)x3+6=5

J
~

2r3-6x8=6 213+8-6=17 IXx3-6x8=28 2X3+6+8=09 Ix(3+6)—8=10
2+3x8+6=6 2x3-6+8=28

(,2369 ~
2:(3x6+9) =1 2434+6-9=2 24+ (3+46)+9=3 243%x6+-9=4 246-9+3=5
2-(3+6)+9=1 2x(346)+9=2 2x3+6-9=3 2X3X6+-9=4 249+(6-3)=5
2+ (3x6)x9=1 24+3=(9-6)=3
2-(6-3)x9=6 21 6+9) <=3=7 2f3+9-6=28 IX3:6x9=0 IX3-6+9=10
2x6+3-9=6 (2x64+9) ~3=7 2x(34+6)—9=09 2+3x%x(649) =10
2x(6-9=3)=6
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(Q377

2+(B3-7+17)
2x(7-3)—7

1
1
2+7+7)+3=1

243x(T—T7T)=2
3—247+7=2

2x(7T-7)+3=3
(2-7+7)x3=3

243-7+7=4
2x(3-T7+7) =4

~

24+3+7—-7=

5
24+3xT7T+7=5

2XB3+7T—-7)=6
2434+7+7=6
2X3XT7T+7=6

IX3FT+7=7
(2XT+T7)+3=7

2XBF+7+7) =38
3x(7T-2)—7=8

C¥7=7)x3=0

2¥7N=3+7=10
2XT7+3-7=10

249-3-7=1
249-34+7) =1

2x(34+7-9)=2
(2+3+9)+7=2

24+3+7-9=3

2x34+7—-9=4
2+7)+9+3=4
2:(9-7)+3=4

(/2378 ~
2+ (34+7-8)=1 2x3+8)+7=2 2x7—(3+8)=3 2+3+7-8=4 2x3+7—-8=5
2x (7-3)+8=1 3-24+8-7=2 2x7-3-8=3 2x(3+7-8) =4 243x(8—=7) =5
2+3)x(8=7)=5
2+3+8-7=6 2X3+8—-7=17 2Xx(3+8-7) =8 2X7+3-8=9 2-3x (7T+8) =10
2x3x(8—7)=6 24+ (74+8)+3=7 (24+8-7)x3=9 2x (7T+8)+3=10
(,2379 N

2x(9-3)—-7=5
(T+9)+2-3=5
(T+9+3)=2=5

24+7—-9+3=6

2+3+9-7T=7

2r3x(9—-7) =28

(7T—2x3)x9=9

2Xx3+9-7 =10

2x4+(444)=1

244x(4—4)=2
4-(24+4-4)=2

(2x4+4)+4=3
4-244+4=3

24 (4+4)+4=14
2x (44+4)+4=4

(2+7+9) = 6 2x34+9-7=28 (2+3)x (9—17) =10

Kz:sss N
2+ (3-8+8)=1 243x(8-8)=2 2x(8-8) +3=3 24+3-8+8=4 243+8-8=5
(2+8+8)+3=1 2x(8—3)—8=2 (2-8+8)x3=3 2x(3-8+8)=4 243x8+8=5
3-(24+8-8)=
2x(3+8-8) =6 IX3+8:8=7 2x(3+8=8) =28 2+8+8) x3=0 3x(8—2) —8=10
24+3+8+8=6 348-8+2=7 (2x8+8)+3=8 8—2x3+8=10
2x3x8+8=6

(’2389 ~
2+ (3+8-9)=1 3-2+49-8=2 2x (3+9)+8=3 2+34+8-9=4 2x3+8-9=5
2x(8-3)—-9=1 3x(8-2)+9=2 2:8x(349) =3 2x(3+8—9)=4 243x(9-8)=5

(2+3)x(9-8) =5

2+3+9-8=6 IXx3+9-8=7 2x(3+9-8) =38 2+9-8)x3=0 2x8+3-9=10
2x3%x(9—8)=6 248-9+3=7 2x(8-9+3)=10

(,2399 ~
2+(3-9+9) =1 243x%x(9—9) =2 2x(9-3)—-9=3 243-9+9=4 24+349-9=5
(2+9+9+3=1 3-2+4+9+9=2 2+(9-3)x9=3 2x(3-9+9)=4 243x9+9=5
3-(249-9) =
2x(3+9-9) =6 2Xx3+9-90=7 2x(3+9-9) =8 2+9+-9)x3=0 9-2+9+-3=10
24+434+9+9=6 9+9+2x3=7 249-9+3=38 (2x9+9)+3=9 9+3-2+4+9=10
2x3x9+9=6 24 (9+9)+3=38

(,2444 ~

2+4—-4+4=5

2+4+4—-4=6
2x (4—4+4)=
244x4+4=6

24+44+4+4=7

2xd+4-4) =38
2x4dx4+4=28

2x44+4+-4=9
4+-4+2x4=9

IX(A+4+4) =10
4-24444=10

N
(&445

4—2+4-5
4+2+4-5

=1
=1
4—(245—4)=

24 (4—4)x5=2
(2+4+4)+5=2

(2-5+4)x4
(4-2)x4-5
4+2x4-5=3

3
3

(2+4—-5)x4=4

24+4+4-5=5
2x (4—4)+5=5

IX(A+4-5) =6
2-4+4+45=6
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6+(2x(7T—6)=3 | (6—2)x(7T—6)=4
2¥6-7)x6=56 216+6-7=7 2-6-6+7=28 2f6-6+7=0 IX(6+6—7) =10
2X(6—6)+7="17 246x(7T—6)=8 246+6x7=9 246+6+7=10
(2+6)x (7T—6)=8
K2668 N
6+2+6-8=1 24 (6—6) x8=2 2x(646)+8=3 (246)=(8-6)=4 | 24+6=(8—-6)=5
(6+8)=2—-6=1 6—2+6-8=2 2+8x (6+6)=3 (2-8+6)x6=4 6—(2+6)=8=5
2x8—(6+6) =4
2+6+6-8=6 2+6)=8+6=7 2x(6+6-8) =8 2X6x6+-8=09 2F6-6+8=10
(2+46)x6+8=6 2:-(8-6)+6="7 (2—6+6)x8=38 246+6x8=10
K2669 N
2:64+6+-9=1 24 (6—6)x9=2 (2-9+6)x6=3 246+(9-6)=4 246+6-9=5
2+6x(9-6)=1 (2x6+6)+9=2 6-2+6x9=3 2x6+(9—-6)=4 2:6x(649)=5
2x(9-6)+6=1
2+6x6+-9=6 6—2+9-6=7 2X6X6+9=2 2x(6-6)+9=09 2-6+6+9=10
2x (6+6—9)=6 (2-6+-6)x9=09 249-6+6=10
2X64+6-9=09
/2677 ~
2x7—(647) =1 246x%(T—7) =2 6=+ (24+7—-7)=3 6—(2+7-7)=4 6-2+7+7=5
2XxT7T—6-—7=1 6+-(24+7+7)=2 6—(247+7)=3 6—2x7+7=4 6+7+7—-2=5
6+(2x7+7)=3 7-2x(7T—6)=5
2Xx(T—-7)+6=6 246-T7-7=7 2r6+7-7=28 2+6+7+7=09 2X (6—7=7) =10
2-7+7)x6=6 (24+6—-T)xT=7 246%x7+7=28 24 (7T—6)X7=9 247-6+7=10
/2678 ~
2+ (6+8)x7=1 6-2+7—8=2 2x8—(6+7) =3 24+ (6+8)+7=4 2:6x(7T+8)=5
2x7+(648)=1 6+-(24+8-7)=2 2x8—-6-7=3 2x (6+8)+7=4 2x(T+8)+6=5
2F+7—-8)x6=6 2+6+7—-8=17 2+6—-7)x8=28 2+6—-7+8=09 2X (6+7—8) =10
(2+6)x7T+8=7 246x(8-7)=8 24 (T—6)x8=10
(2+6)x (8-7)=8
r2679 ~
6+2+7-9=1 6—2+7-9=2 (2x6+9)+7=3 246)=(9—-7)=4 | 246=(09-7)=5
6+9—-2x7=1 6—(2+9—-7) =2 (2+7+9)+6=3 (6+9—7)+2=4 2x9—-(647) =5
6+(9-T7)—2=1 6-2x(9-7)=2 2+7)+(9—-6)=3 2x9-6-7=5
2+6+7—-9=6 2+ +9+6=7 2X(6+7—9) =38 2F6-T)x9=09 2¥6-7+9=10
2+(9-7)+6="7 (2+6x9)+7=28 2x6+7—9=10
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(2688

2:846x8=1
8—(64+8) +2=1

2+6x (8—8) =2
(2+6+8)+8=2

(2+8+8)+6=3
6+(24+8-8)=3

(2x8+8)+6=4
6—(2+8-8)=4
6-2x8+8=4

(2+8)+(B8—-6)=5
6-2+8+8=5
6+8+8—-2=5

~

2+ (749)x8
2x 8= (749)

1
1

T+8+2-9=2
T+-(8—-9+2)=2

2x9—(7T+8) =3
2x9-7-8=3

24+ (7+9)+8=4
2x(7T+9) +~8=4

(2+8)+(9-7)=5
7T—2%x(9-8)=5
(7T—2)x(9—8) =5

2+8=-(8—-6)=6 2+6—-8+8="7 2+6+8—-8=28 2+6+8+8=9 2X (6—8+8)=10
2x(8—8)+6=6 2+6x8+-8=8 (24+6)+-8+8=9 6—-8+2+8=10
(2—-8+8)x6=6
(/2689 ~
2x8—(6+9)=1 6+24+8—-9=2 (2x9+6)+8=3 (2-9+6)x8=4 6—-24+9—-8=5
2Xx8—-6-9=1 6+(24+9-8)=2 6—-2+8-9=3 2X9—(6+8)=4
6—(2+9-8)=3 2x9—-6-8=4
2-8+-6)x9=6 24+6+8—-9=7 2+6x(9—-8)=8 24+6—-8+9=9 2x(6+8—9)=10
(24+8—-9)x6=6 (2+6)x(9—-8)=8 (24+6)+-8x9=9 (2+6)-8+9=10
K2699 \
9+(9-6)—2=1 246x%x(9—-9)=2 2x9—-(6+9)=3 6—(24+9-9) =14 24+9=+(9—-6)=5
9+9)+6—-2=1 6+-(2+9+9)=2 2x9-6-9=3 6-2x9+9=4 24+(94+9)+6=5
6—-24+9+9=5
2+-6x(9+9)=6 2+6—-9+9=7 2+6+9—-9=38 24+46+9+9=9 2Xx (6—9+9)=10
2+(9-6)x9=6 2+6x9+-9=8 9—-(24+6)+9=10
KN?? \
2X 7T+ (7T4+7)=1 24 7x(7T—-T)=2 2xT7+7)+7=3 24 (7T+7)+-7=4 T—-24+7-7)=5
T+ (T-7T+2)=2 2X (T47)+7=4 7T-2XT7+7=5
T—2+7+-7=6 2x (T—-1)+7=7 247—-7T+7=38 24+7+7-7=9 24 7+7+7=10
T+7+7-2=6 2-7+7)x7=7 24 7TXx7T+7=9
TET+7-2=6
(—2778 <\
7T+8—-2xT7=1 24 (7T-7)x8=2 (7+7-8)+2=3 T(2x7+8) =4 7T—-2x(8-T7)=5
2+7+7)+8=2 (7+8)+(7—-2)=3 T-(2x7)x8=4 (7-2)x8=7)=5
8+2-7+7=3 7T-247-8=4 7T+7+8+2=5
2-8+-7)x7=6 2+7-8)x7=7 24+7+7—-8=38 2—T7+7T+8=9 24+7—-7+8=10
7T-24+8-7=6 2x (7T—-T)+8=8 24 7x(8=T)=9 247+7Tx8=10
247 x@®8=7)=9
(,2779 ~
(7T+9)+2-7=1 24 (7T-7)x9=2 7T—-24+7-9=3 2X9—(7T+7) =4 (2-9+7)x7=5
9+7-2=+7=1 (7—24+9) +7=2 7T-(24+49-7)=3 2X9—-7—-7=4 (7+7+4+9)+2=5
7T—-2x(9-T7)=3
T—2+7)+9=6 24+ T7+7-9=7 2+ -9+7=38 2x (7T—7)+9=9 2x (7T+7—-9) =10
7T-2+(9-7)=6 2+ xT7T+9=7 2+-(9-7)+7=28 2-7+7)x9=9 2-7+7+9=10
(’2788 ~
2x8—(7+8)=1 24+ 7x(8—8) =2 7T—(2+8+8) =4 7—-(2+8-8)=5
2X8—-7—-8=1 (7—8+8)+2=3 7-2-8+8=4 7-2x8+8=5
7-2+8+8=6 2Xx (8—=8)+7=7 2+7—-8+8=8 2+7+8-8=9 2+7+8+8=10
7+8+-8-2=6 (2—-8+8)x7=7 (24+7-8)x8=8 24+7x8+8=9 24+ (8-7)x8=10
8—2x(8-7)=6
(’2789 ~

2+8=-(0—-7) =6
7-249-8=6

N

C+8-0)x7=7

2+7+8—-9=28
(24+7)x8+9=38

2F7-8)x9=09
247x(9—8)=9
24+7)x(9-8)=9

24+7-8+9=10
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24+ 7% (9-09)
24+74+9) +

(7T-9+9)+2=3

7T-(249+9)=4
7T-2-9+9=4

~

7T-(2+9-9)=5
7-2x9+9=5

2
9=2
2Xx (99 +7=7
(2-9+9)x7="7

24+7-9+9=8

24+74+9-9=9
24+7Xx9+9=9

2+74+9+9=10
(2+7)=9+9=10

2x8+(8+8)=1

248x(8—8) =2
8+-(8—8+2)=2

(2x8+8)+8=3
8+2-8+8=3

2+ (8+8)+8=4
2x (848)+8=4

J
\
8—(2+8+8)=5

8—-2-8+8=5
8+-2+8+-8=5

N
-

8—(2+8—-8)=6 8—-24+8+-8=7 2x (8—8)+8=38 24+8—-8+-8=9 2+84+8-8=10

8—-2Xx8+8=6 8+8+8-2=7 (2-8+8)x8=38 24+8x8+8=10
8+-8+8-2=7

2889 \

8+9—-2x8=1

24+ (8-8)x9=2
(2+8+8)+9=2

8+-2+8—-9=3
9+(24+8+8)=3

8+ (2x(9—28))=4
8+2x(9—-8)=4

8—2+8-9=5
8—(2+9—-8)=5
8+24+9-8=5

8—2x(9—-8)=6
(8—2)x(9—-8)=6

2-9+8)x8=17
8—2+9-8=7

2+8—-9)x8=28

2+8+8-9=29
2x(8-8)+9=09

2-8:8+9=10
2+8x(9—8) =10
(2+8) x (9—8) =10

N
(

N
/

N
-

2899 ~N
2x9—(84+9)=1 248x(9-9)=2 8+2-9+9=3 8+ (2+9-9)=4 8—(249+9) =5
2x9-8-9=1 9+(249-8)=3 8+ (2x9+9) =4 8—2-9+9=5
8+2+9+9=>5
8—(2+9-9 =6 8—2+9-9=7 2Xx(9—-9) +8=28 2+8-9+9=9 2F8+9-9=10
8—2x9+9=6 8+9+9-—2=7 (2-9+-9)x8=38 (2+8-9)x9=9 248x9+9=10
9-2x(9—-8)=7
2999 ~
2x9+(949) =1 249x(9-9)=2 (2x949)+9=3 24+ (9+9)+9=14 (9+9+9)+2=5
9+ (9-9+2)=2 9+ (24929 =3 2x(949)+9=4
9-(2+9-9 =6 9-(2+9-9 =7 9-2+9:0=28 2x(9-9+9=09 2+9-9-9=10
9-2-9+9=6 9-2x9+9=7 94+9+9-2=38 (2-9+9)x9=29
9+949-2=38
3333
3+(34+3-3) =1 3+3+3+3=2 3+3x(3-3)=3 (3+3x3)+3=4
3x3+(3x3)=1 (3x3—3)+3=2 (3+3+3)+3=3
3+(3x3+3)=1

3+3+3-3=6
3x(3-3+3)=6
34+43x3:3=6

34+3+3+3=7

I3Ix3—-3+3=8

3x(3+3-3)=09
3x3x3+3=9

3xXx3+3+-3=10
3+3+3x3=10

N
-

3334

(3+3+3)+4=1
3+ (83x(4-3)=1

3+ (3+3)x4=2
3x3—-3+4)=2
3 x3—-3—-4=2

3+(3-3)x4=3
(3+3x3)+4=3

3x(3-3)+4=4

AN

3+3+3—-4=5

3x(3+3-4) =6
3-3+34+4=6
(3+3)+3+4=6

3+3—-3+4=7
3+3+3x4=7

3+3x3—-4=28
3+3+3+4=28

3x3x((4-3)=9
3x(4-3+3)=9

3Xx3—-3+4=10

N
-

N

3335 N
3x3—-(34+5) =1 3-3+5-3=2 3x(343-5)=3 3+3+3-5=4 3x(3-3)+5=5
3x3-3-5=1 3+3x(5-3)=2 3+(3-3)x5=3

(3+3)=(5-3)=3
BF3x5)=3=6 3f3x3-5=7 3+3-3+5=23 3+3+3+5=09 (3-3=3)x5=10
3x5-3x3=6 3-3:3+5="7 34+3:3x5=28 (3+3)+3x5=10
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-

3336

3x3+(3+6)=1
3+(3x3—-6)=1

3+-(3x3+6)=2
3—-(3+3)+6=2
(3+3x3)+6=2

3+34+3-6=3
3x(3+3)+6=3
3+(3-3)x6=3

3+(3+3)+6=4
343+ (6—-3)=4
3+3-6+3=4

(3x3+6)+3=5

3+3x3-6=6
3x(3-3)+6=6

B3Ff3x6)-3=7
3x3-6-3="7

3-3:-3+6=28
(3+3)+3+6=38
3+3+6+-3=38

3+3-3+6=09
3x(3x3—-6)=09
34323x6=09

3+3+-3+6=10

N
-

N
-

3337 N
3+47-3x3=1 34+34+3-7=2 3+(3-3)x7=3 3-34+47-3=4 343x3-7=5
3x(3-7+3)=2 3x(T—(3+3)=3 | 3+3x(7T-3)=4 3x3+43-7=5
3X(BX3-7)=6 3X(B3-3)+7=7 BF3x7)=3=28 3-3+3+7=0 3f3-3+7=10
(3x7-3)+3=6 (3+3)=34+7=9 34+43+3x7=10
3338 N

3+34+3-8=1
3x(3-8+3)=1

348-3x3=2
8+(3+3+3)=2

34+ (3-3)x8=3
3x(3x3—-8)=3

34+3x3-8=4
3+ (3+3)x8=4

3-3+8-3=5
3+3x(8-3)=5

3+-3+8—-3=6
3x(8-(3+3) =6

‘6x8—$+3:7

3X(3-3) +8=238

3-(83-8+3)=9
(3+3x8) +3=9

3X(3+3) —8=10
3-3+3+8=10

N
-

3339

B+3+3)+9=1
(B43)+(9—-3) =1

3-3x3+9=2
3x(3+43)+9=2

3x3x3+9=3
3+4(3-3)x9=3
3+3x3-9=3

3+3x3+9=4

(3+3+9) ¢
34+(9-3)+3

o ot

AN

3-3+9-3=6
3x3-9+3=6
3+3x(9—-3)=6

3+(B3+9)<=3=7
3+349-3=7

3X(3—-3=9) =

8
(3x9-3)=3=38

3x(3+3)—9=09

3X(B3+3+9) =10
(3+3x9) =3=10

N
-

N
/

N
/

N
/

N

3344 ~
3+ (3+4-4)=1 3:3+4+4+-4=2 34+3x(4—-4)=3 (3-3)x44+4=4 343-4+4=5
3:-(3x4+4)=1 4+(B+3-4)=2 3x4—(344)=5
4-34+4-3=2
3+3+4-4=6 3f3+4+4=7 3-3f4+4=328 3XxB+d—4) =09 3Xx3+4-4=10
3x(3-4+4)=6 3+(4—-3)x4="7 3x3—4+4=38 3x3x4+4=9 4x4—(343)=10
343x4+4=6 3:3x(44+4)=38 4+443x3=10
3345 ~
3x3+(44+5) =1 (3+3+4)+5=2 (3+3x4)+5=3 (3+3-5)x4=4 3+34+44-5=5
Bx3—-4)=5=1 3:3+45-4=2 (3—-3)x5+4=4
3x4—(345)=4
3Xx(3+4-5) =6 3+3-4+5=17 3x3+4—-5=28 3-3+4+5=9 3+3x4—5=10
343x(5-4)=6 3+(4-3)x5=8 3+3x(445)=9 3+3+4+45=10
3x(34+5)+4=6
3346 ~
3-3x4+6=1 3+(3-6+4)=2 3x(3+4—6)=3 3+34+4—-6=4 34+3x4+6=5
3—-34+6-—4=2 (3+3+6)+4=3 (3+3)x4+6=4
3:3x(6-4)=2 (3+3)+(6—4)=3
3x3x4-6=6 3x(3-426)=7 3+3-4+6=28 3+3x4-6=0 3-3+4+6=10
3x3+4—-6=7 (B+3)+4x6=9 3+3x%x(446)=10
3347 ~
7+3-4+3=1 3—(344)+7=2 3+34+4-7=3 3+(3+4)+7=4 3x(4-7+3)=5
3-3+(7T—4)=2 3x(3+4)+7=3 343+ (7T—4)=4 4-3+4+7-3=5
(B+3)+(7T-4)=2 3+347—-4=4
3x3+4—-7=6 B-3)xdf+7=7 3+3x4-7=28 3¥3-4+7=9 3f@d-3) x7=10
(3+3x7)=4=6 (B3x3-7)x4=28
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(3348

3x4—(34+8) =1 3+ (3x4+8)=2 (3+3)x4+8=3 343-8+4=4 3x34+4—-8=5

3x4-3-8=1 3+3+4-8=2 3x(3—-8+4)=3 3—-3+8—-4= 3+34+8—-4=5
3+-(3x4)x8=2

4—-3+8-3=6 3+3x4—-8=7 B3-3)x4+8=38 3+3+-4x8=9 3+3—-4+8=10

44+8—-3+3)=6 3X3—-8+4=7 3+3+8+-4=28 3+3x8+4=9

N
/-3349

3+ (3x4-9)=1
3+43+4-9=1

3x4+(9-3)=2

3x(4-9+3)=3
4-3x3+9=3

3xXx3x4+9=14

3x3:19+4=5
3-3+9-4=5
3:3x(9—-4)=5

AN

3+3x4-90=6
3+(34+9) +4=6

Bxd+9) =3=7
4-349-3=17

B3F9) =3+4=28
4+3x(9-3)=8

3xB3x4—-9)=9
(3-3)x4+9=9
3x(3+9)+4=9

3+4+9+3=10

)=1
3+-B3x6+6)=1

3+(34+6)x6=2
3+3+4+6+-6=2

=3
3x(6—-3)—6=3

3x3+6)=4

K3355 \
3+(3+5-5)=1 3+34+5+5=2 3+3x(5—5)=3 (3+5)~(5-3)=4 | 34+3-5+5=5
3:-(3x5+5) =1 5-34+5-3=4 (3+3—-5)x5=5
3+3+5—-5=6 3+3+5+5=7 IXx3—-5+5=8 3xB8+5—-5)=9 3—-3+5+5=10
3xXx(3-5+5)=6 3x5—-B8+4+5)=7 3X3x5+5=9 3x3+5+5=10
34+3x5+5=6 3+3x (54+5)=10

K3356 \
(B3+34+5)+6=1 3+34+46-5=2 (3+3x5)+6=3 3X(3+5)+6=4 3+34+5-6=5
3-(Bx(6-5))=1 | 3x5-3)>6=2 (3+3)x5+6=5
3-34+6-5=1
3x(3+5—-6)=6 3+3-5+6=7 3x3+5—-6=28 3x3x(6—-5)=9 3X3—-5+6=10
(3-3)x5+6=6 (3—5+3)x6=38 3+(5-3)x6=9

K3357 \
3—(B+7)+5=1 (3X34+5)+T7=2 3x(3+5—-7)=3 3+434+5—-7=4 3+(B+7)+5=5

3-34+7-5=2 (3+3)=(7T-5) = (3-3)x7+5=5

3:3x(T—5)=2 3:3%+7-5=3 3x5-(347)=5
3X(B+7) +5=6 B+3-B)x7=7 3+3-5+7=28 3+3x(7—5)=9 (BXx3—7)x5=10
3+-5x(34+7)=6 (B3=3)x5+7=7

3X3+5-7=7

3—(3+45)+8=2 34+34+5-8=3 3+(3+5)+8=4 (3—3)x8+5=5

3-3+(8-5)=2 3x(345)+8=3 343+ (8-5)=4 (3x3—-8)x5=5

(3+3)+(8-5)=2 3+3+8—-5=4
3x34+5—-8=6 3x(5-8+3)=7 (83+3—-5)x8=38 3+43—-54+8=9 3+3x5—-8=10
3x(8—5)—3=6 34+8+(5-3)=7 (3-3)x5+8=38

5—-3+8-3=7

(-3359 \
3+9+3-5=1 3+34+5-9=2 B+34+9)+5=3 3—-34+9-5=4 3X3Xx5+9=5
5—(3+9)+3=1 (3+3x5)+9=2 3x5—(34+9)=3 3+3x(9-5)=4
B+3x9)+5=6 5+(0—3)+3=17 B3Xx5+9) -3=38 3+3x5—-9=09 3+3-5+9=10
3X3+-9+5=6 5—-3+9—-3=28 B+3-5)x9=9

/3366 \
3+(34+6-6 (3+3+6)+6=2 3+3x (6—6) (3x6—6)+3=4 343-6+6=5

346+(6—-3)=5

3+3+6—-6=6
3x(3-6+6)=6
34+3X6-6=6

N

3+3+6-6=7
(3+3)+6+6=7

3X3—-6+-6=28
(3x6+6)+3=38

6+ (
6+-(3x3)x6=4
3% (

3+6—-6) =9
3Xx3X6+-6=09

3X3+6+-6=10
6+-6+3x3=10
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3367

(3+3+6)+7=1
3+ (3% (7—6)) =
3-3+7—-6=1

1

3+3+4+7-6=2
3x(6-3)—7=2

(3+3x6)+7=3

(B43xT7)+6=4
(3-7+3)x6=4

3434+6-7=5

N
-

N
r

3Xx(3+6—-7)=6 3+3—-6+7=7 B+3)~6+7=38 3X3xX(7—6)=09 3Xx3—6+7=10
3+3x(7—-6)=6 (B+3)+6x7="7 3x3+6—-7=38
(3+3)x(7-6)=6 3-3)x6+7="7
3368 \
3x(6-3)—-8=1 3-3+8—-6=2 3x(3+6-8)=3 3+3+6-8=4 3x(3-8+6)=5
3:6x8—-3=1 3:3x(8—-6)=2 (3+3)+-(8-6)=3 64+8—-3x3=5
3+-3+8—-6=3
(3-3)x8+6=6 3+3-6x8=7 3+3-6+8=38 (B+3)-6+8=9 3x(6—8=+3) =10
(3x3-8)x6=6 3x3+6-8=7 (3+3)+-6x8=38 34+3x(8—-6)=9 (3x8+4+6)+3=10
3x8—-3%x6=6 (3-3)x6+8=28 3+-(6-3)+8=9
3-(834+6)+9=2 3+34+6-9=3 3+(34+6)+9=4
3-32+(9-6)=2 3x(3+6)+9=3 (3+3)x6+9=4
3+-(3—-9+6)=2
3Xx3x6+-9=6 3x(B-6+-9) =7 3+(6+9) +3=8 3+3-6+9=09 BF3)+6+9=10
3X3+9+6=7 6+-3+9-3=38 (3+3)+6x9=9 3+(6-3)+9=10
(3-3)x6+9=9 3-6+3+9=10
3378 \

B+34+7)+8=1
3+ (83x(8=17)=
3-34+8-7=1

1

(3x3+7)+8=2
(B+3+8)+7=2
3+348-7=2

(3+3x7)+8=3

3x(7T—3)—8=4
(T—3+8)+3=4

3+3+7-8=5

3Xx(3+7-8)=6
34+43x(8-T7)=6

3+3+8—-7=7

B-3)x7+8=38
3x3+7-8=28

3x3x(8-7)=9

3x3-7+8=10

N
-

N
-

N
-

N
(

N

B+3)x(8-7)=6
3379 a\
7T-(3+9+3) =1 3-34+9-7=2 3x(3+7-9)=3 3+3+7-9=4 7-(9-3)+3=5
7T-3-9+3=1 3+3x(9-7=2 (B3+3)+0O-7)=3
3:3+9-7=3

(B3-7+3)x9=6 3X3XT-9=7 3+3+9-7=38 B=-3)x7+9=9 BXx7+9) +3=10
3Xx9—-3x7=6 3x7—(34+9) =9 7—-(3+3)+9=10

7-3-34+9=10
3388 A\
3+-(3+8-8)=1 3+3+8+8=2 3+3x(8-8)=3 8+ (8—(3+43) =4 3+3-8+8=5
3:(3x8+8)=1 8+ (8-3-3)=4
3+3+8—-8=6 3+3+8+8=7 3x3—-8+-8=38 3x(3+8—-8)=9 3x3+8+8=10
3x(3—-8+8)=6 3x(8-3)-8=7 (3-3)x8+8=38 3x3x8+8=9 8—(3+3)+8=10
3+3x8+-8=6 (3x3—-8)x8=38 8—-3-3+8=10
3389 A\
(3+348)+9=1 3+-(3+9)x8=2 (34+43x8) +9=3 3x8+(9-3)=4 3+3+8-9=5
3:-(3x((9-8)=1 3+34+9-8=2 (3-8+3)x9=3
3-3+9-8=1
3x(3+8-9) =6 3+3+9-8=7 3Xx3x8+-9=328 (3-3)x8+9=9 3x3-8+9=10
3+3x(9-8)=6 (3x3-8)x9=9
(3+3)x(9-8)=6 3x3x(9-8) =9
3399 A\
3:-(3+9-9)=1 3+3+9+9=2 3+3x(9-9) =3 3x(3+9)+9=4 3+3-9+9=5
3:-(3x9+9)=1 (3x3+9)+9=2

3x(9-3)+9=2

3+3+9-9=6 3+3+9+-9=7 3x3-9+-9=328 3x(B3+9-9 =9 3x3+-9+9=10
3x(3-9+9)=6 9-3x3+9=38 3x3x9+9=9 3x3+9+9=10
3+3x9+9=6
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(3445

3+ (44+4-5)=1
B+5—-4)+4=1
B+5)=(4+4) =1

3+4+45+4=2
4+(B3+4-5)=2
4—(345)+4=2

3+(4—-4)x5=3
3x4—(445)=3
3x4-4-5=23

3x(4—4)+5=5

~

3+4+4—-5=6

3—4=4+5=17
34+4x(5—4)=7

3+4—-4+5=8
3+4+4x5=8

3x(@AF14-5 =9
34+4+4+5=9

B-4=4) x5=10
4-3+4+5=10

N

B+4)x(5-4)=7
(/3446 ~
3—4+(6-4)=1 3x4—(446) =2 3+(4—-4)x6=3 3x (44+4)+6=4 34+4+4-6=5
346-—4—4=1 3x4—4—6=2 4-3+4+6-4=3 (B+4—6)x4=4
346—(4+4)=1
3x@A+4-6)=6 Ix4—(34+6) =7 3XxAx4+6=23 3+4—-4+6=09 3x(@A—4=6)=10
3x4+(6-4)=6 4x4-3-6=17 344+4x6=9 344+4+46=10
(,3447 N
3x4—(44+7) =1 347—4—4=2 3x(44+44-7)=3 344+4-—7=4 (B+4)+7+4=5
3xd—4—7=1 347—(4+4)=2 34+(4—-4)x7=3 B4+4)x4=7=4 3x(T—4)—4=5
3+(T—4)+4=5
Ix4-(3+7) =6 3x{@A—-4)+7=7 @x7—-4)+3=238 3—4+-4+7=9 3¥4—4+7=10
4x4-3-7=6 3x4+4-7=9 344+4x7=10
K3448 N
3x4+(4+8) =1 3—(44+4)+8=2 3+4+4-8=3 34+ (4+4)+8=14 34+4x4+8=5
3—4x4+8=1 (B3x4+4)=8=2 3x(44+4)+8=3 3+4+(8-4)=4 34+4-8+4=5
3—4+(8-4)=2 3+(4—4)x8=3
3Xxdx4+8=6 Bx8+d)+d=7 3x@—-4) +8=28 3+4x(4+8) =9 3-4+-4+8=10
3x4+4-8=8 344+8+4=09 (3—4+8)x4=10
3x (4+8)+4=09 3x4—8+4=10
(,3449 ~
4-(349)t4=1 34+4+4-9=2 34+(4-4)x9=3 B+44+9) +4=4 (4-3)x(9—4)=5
44+9-3x4=1 (B3+9—4)+4=2 3+4+4+9+4=3 34+9—(4+4)=14 (4—-3)x9-4=5
3x(9—(4+4)=3 44+4-9:3=5
I-3+9-4=6 3x4d+4-9=7 I:3x9-4=3 3x(@A—-4) +9=09 3+4x4-9=10
(B+9)~4+4=7 4x(9—(3+4)=38 4x443-9=10
4x(9-3—-4)=38
/,3455 ~
3+(4-5+5)=1 3x4—(54+5)=2 3+4x(5-5)=3 3x(5-5)+4=4 (3x5+5)+4=5
(B3+5+5)+4=1 3x4—5—5=2 4x(5-3)—5=3 4x5-3x5=5
4-345-5) =1 4+(B3-5+5)=2
3+4-5+-5=6 3+4+5-5=7 3+4+5+-5=28 3Xx(4—5+5)=9 (B3+4—-5)x5=10
3x5—(44+5)=6 344x5+5=7 3+(5—4)x5=28 345—-4+5=9 (3+5)+4x5=10
(,3456 ~
3+(445-6)=1 (B3+4+5)+6=2 4+ (34+5)x6=3 (B+5)+(6—4) =4 | 3+(44+6)+5=5
3x4—(5+6)=1 3+ (445)x6=2 4+3x6-5=3 5-3+6—4=4 (3+4—-6)x5=5
3x4-5-6=1 3x5—(446)=5
3+4+5-6=6 3+4x(6-5) =7 3+4-5+6=28 3x(4+5-6)=9 3Xx4x5+6=10
3x4+6+5=7 3+(5-4)x6=9
(B+4)x (6-5)=7
(,3458 ~
3+4x8—-5=1 (3+5)+~(8—-4)=2 | 3x(4+5-8) =3 34+4+5-8=4 (3+5)+8+4=5
3+ (5-8+4)=1 348-4-5=2 (3+4+8)+5=3 (3—-8+4)x5=5
(B+8+4)+5=1 348—(4+5)=2 3x(8-5)—4=5
3+5-8+4=6 B+4x8) +5=7 Ir8+-(5-3) =28 3x4+5—-8=0 3+4-5+8=10
3x(8—4)—5="7 (5-3)x(8—4)=8 | 3x(5-8+4)=9
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(3466

~

3+-9+4+6=1
449+3-6=1

Bx44+6)+-9=2
3+9—-4-6=2
3+9—(4+6)=2

3x (44+6—9)

3
(3+4x6)+9=3

3+44+6-9=4

3x4+(64+6)=1 3+6+6+-4=2 3+4x(6-6)=3 3x(6-6)+4=4 3x(4+6)+-6=5
3-4-6+6)=1 4+-B-6+6)=2 (B3x44+6)+-6=3
4—-3+6+-6=2
3+4-6+-6=6 3+4+6—-6=7 3+4+6-6=28 3Xx(4—-6+6)=09 (4x6+6)~3=10
(3+4—-6)x6=6 34+4x6+-6=7 3x4+6+6=8 3+4x(64+6)=29
3+(6-4)x6=09
(3467 \
3+-(@4+6-7)=1 (3x6—4)+7=2 3+6)+(7T—4)=3 (B3+6+7) +4=4 3+6+(7—4)=5
3—6+(7T—4)=1 4+-34+6-T7)=2 3x(7T—4)—6=3 B+7)+(6-4)=5
4-34+7-6=2 4X6—-3x7=3 4%x(6-3)—-7=5
3+4+6-7=6 BFt4—-6)x7=7 3+4-6+7=28 3x(A+6-7 =29 4x(7—3)—6=10
B+4)x6+7=6 34+4x(7-6)=7 3x4+6+7=9 (4-T7+3)x6=10
B+4)x(1T—6)=T 4Xx7-3x6=10
K3468 \
3+ (4x6+-8) =1 3-6x(8—4)=2 4-34+8-6=3 (3+6—-8)x4=4 3+4+6-8=5
3+-(4x6)x8=1 3x(8—4)+6=2
3+4+6x8=1
34+44%xXx6+-8=6 346—-8+4=7 B+4—-6)x8=38 3X4x6+-8=9 3x4+-6+8=10
3x(44+6—-8)=6 3x(4—8+6)=8 3x44+6-8=10
3+-6x8+4=28
r3469 \

3x6—(44+9) =5
3x6-4-9=5

3Xx6+9+4=06
(3-—9+6)x4=6

44+6-9+3=7

I3IX4xXx6+9=38

3+4-6x9=09
(3+4—-6)x9=09
3x44+46-9=09

3X(A—6=+9) =10
344-6+9=10

N
(3478

3+ (4+7-8)
3x(T—4)—38

1
1

4+(34+47-8) =2
4-348-7=2

(4+8)+(7T—3)=3
(7T—3+8)+4=3
7T—(4+8)+3=3

Bx8+4)+7=4
4x7—-3x8=4

(3+4x8)+T7=5
(3+7)x4+8=5

J
~

3+4+7-8=6

3¥dxB-17) =7
B+ x@B=7)=7
(B3—8+4)xT7=17

3+4-7+8=28
(3+4)+7x8=38

3X(@A+7-8) =09
(B+4)+T7+8=9

B-7=4) x8=10

(/3479 ~
3—4+-(9-7)=1 B+7)+(9—-4)=2 (B3x4+9)+7=3 B+7-9) x4=14 34+44+7-9=5
3x (7T—4)+9=1 3x(9-7)—4=2 4-3+9-7=3 (B+9) +(7—4)=4
4=-3)x(9-7=2
3x(4+7-9)=6 3+(7T+9)+4=7 3xT7T—(4+9) =8 3+4—-74+9=9 B+4)+7+9=10
3x4+(9-7)=6 Ax(71-3)—-9=7 3xT7T—4-9=38 (B4+4)+7x9=9 3x4+7-9=10
K3488 N
3+-(4-8+8)=1 3+-(4+8)x8=2 3+4x(8—-8)=3 3x(8—4)—-8=4 3+8+(8—4)=5
3-8+(8—4)=1 (3x8—8)+4=4
(B3+8+8)+4=1
3+4—-8+-8=6 3+4+8-8=7 3+4+8+-8=38 3x(4-8+8)=9 (8—3)+4x8=10
3+(8-4)x8=6 3+4x8+8="7 (3—-8+4)x8=38 3—8+4+8=9 (8—3)x8+4=10
K3489 B
3+-(4+8-9) =1 B+4+4+9)+8=2 3x(8—4)—9=3 3x(44+8)+9=4 (34+8+9)+4=5
(3+9-4)+8=1 B+9+(8-4) =3
4+-8x(9-3)=3
3+4+8-9=6 3+4x(9-8)="7 3+4+9-8=38 3x(4+8-9)=9 3-8+4+9=10
B+4)x(9—-8)=7 (3-8+4)x9=9 3+9-8+4=10
3x(9—-4)—-8=7
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(3x5—5)+5=2
5—(34+5—5)=2
5—3x5+5=2

(3x5+5)+5=4

3+(5+5)+5=5
3x(5-5)+5=5
3x5—(54+5)=5

3X(B+5) 5=
3+5x (5+5) =

3+5—-5+5=7

3+5+5+5=9

(3-5=5)x5=10
5x5—3x5=10

Y

3556

J
~

N
K

N
/

N
/

5-3+5—-6=1 5+ (3x5+6)=2 3+ (5—-5)x6=3 3x5—(54+6)=4 3x(5+5)+6=5
5—(3+6-5)=1 5+ (3x5)x6=2 5-3+6-5=3 3x5-5—6=4 3+6x%x(5+5)=5
5+3+5x6=2
3Xx(B5-5)F+6=06 3+¥5+5-6=17 3-5+5+6= 3+5-5+6=09 3+5-5+6=10
3+5x(6-5)=8 34+5+5X6=09 (3+5—6)x5=10
(3+5)x (6-5)=8
3557 N
3+(54+5-T) =1 3+547+5=2 34+(5—-5)x7=3 (B+5x5)=T7=4 (B3+5—-T)x5=5
B4+7-5)=5=1 (7T—5+5)+3=2 3x5—(54+7) =3 (3+5)=(7—5)=4
3x(T—5)—5=1 3x5—-5-7=3
3+5+5—-7=6 3X (-5 +7=17 B-7=5)x5=28 3X(B+5-7 =9 3+5—-5+7=10
(B+7)+5+5="7 3-5+5+4+7=9 345:5x7=10
3558 N
34+8-5-5=1 3x5—(5+8)=2 3+(B-5)x8=3 3x(8—5)—5=4 345+5-8=5
34+8—(5+5) =1 3x5—5—8=2 5-(3+5)+-8=4 (3+5)x5+8=5
5-3+(8—5)=4
3Xx(5+5-8) =6 B-8=b5)xb65=7 3x(5—5) +8=28 5+8+(5-23) =9 3-5+-5+8=10
(3+5)-8+5=6 34+8—-5+5=10
3+(8-5)+5=6
3559 ~N
3x5—(54+9) =1 (B+5)+(9—-5) = 3x(54+5-9)=3 345+5-9=4 5x(9—-(3+5)=5
3x5—-5-9=1 3+9-5-5=2 3+(5-5)x9=3 5x(9—3—5) =5
349—(5+5)=2
B-0-5)x5=6 3x(0-5 —5=7 G-3)x(9—-5 =8 | 3x(B-5+9=09 5r3x9-5=10
5-3+9-5=6 54+45-9+3=7 5x(5—9=+3)=10
3566 ~
5—-(3+6+6)=1 5—(34+6—6)=2 3+5x% (6—6) = 5:3x6-6=4 3x(6—6)+5=5
5-3-6+6=1 5-3Xx6+6=2 3x5—(6+6)=3 5Xx6+3—6=4
5+6+3-6=1 3x5—6-6=3
G-3)x6-6=6 3f5-6:6=7 315+6-6=2 3f5+6-6=0 316-5+6=10
(64+6)=~(5-3)=6 | 3x6—(5+6)="7 34+5x6+-6=28 3+(6—-5)x6=09
3567 ~

N
-

N

3—(5+7)+6=1 B+5+6)+-7=2 (3x5+6)+7=3 (5+7) +(6-3)=4 3+(54+7)+6=5
3:6x(7T—-5)=1 3x5—(64+7) =2 6—(3+7)+5=4 (B3x6+7) +5=5
6+-34+7—-5=14
3x(B5+7)+-6=6 3+4564+6—-7=7 3+5x(7—6)=38 3+45—-64+7=9 34+ (6—-5)x7=10
(3+5—-7)x6=6 (B3+5)x(7—6)=28 B+6—-7)x5=10
(B+7)+5+6=38
3569 \
3x5+(6+9) =1 3+6x(9-5)=2 5—-3x6+9=3 (3x5+4+9) +6=4 3+5+6-9=5
(3x5—-6)+9=1 3x(9-5)+6=2 (5-3)x6—-9=3 3x6—(5+9)=4
3X6—-5—-9=4
3x(5+6—-9) =6 3x(5+9) +6=7 B+5x9) -6=238 3+-5x(6+9) =9 3X5x6+9=10
3+4(64+9)+5=6 3+6x(5+9)="7 5+6-9+3=28 3x(64+9)+5=9
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-

3578

3x5+(7T+8) =1

3+ (54+7)x8=2
(3Xx7—5)+8=2

5-3+8-7=3

5+(3+7) x8=4
(5x7—-3)+8=4

7T+(3-8+5)=5

~

3+5+7—-8=7
(3+5)x7+8="7

BF5-7) x8=38
3+5x(8—-7)=8
(B3+5)x(8-7)=28

3+5x(7+8) =9
345-7+8=9

B+7)+5+8=10
(3+7—8)x5=10

N
-

Bx5—-7)+8=1
3+(7+8) ~5=6
(5-3)x7—-8=6
3579

3:(5+7-9) =1
3-(5+9)+7=1

G+7)=(9—3)=2
(74+9+3)+5=2

9-3x(7T—5)=3
(9—3)+(1-5)=3

3x(5+7)+9=4
B+5)+(9-7) =4

34+(B+9)+7=5
(B3+7-9)x5=5

J
~

3+5+7-9=6

3X7T—(6+9) =7
3X7—-5-9=7

3x(5+7-9) =09

34+5-74+9=10

N

(3x5+9)+8=3
5-3+9-8=3

(B3+8+9)+5=4
3x(9—-5)—8=4

348+(9-5)=5

N
-

B3+5x9)+8=6 3+5+8—-9=7 3+5x(9-8) =28 3+5-8+9=09 (B3F5)+8+9=10
3x8+(9—-5)=6 B+5)x(9—-8) =8 | 3+5) +8x9=9 3+(8-5)+9=10
3x8—(54+9) =10
3668 ~
326x%x(8—6)=1 3= (6+46)x8=2 3+(6—6)x8=3 3x6—(6+8)=4 (3x846)=6=5
3x(8—6)+6=1 3x8+(646)=2 (3x6+6)=8=3 3x6-6-8=4 6-3+8-6=5
3+6+-(8-6)=6 3+6+6-8=7 3x(6—-6)+8=28 3X6+(8—6) =9 3-6+-6+8=10
(3+6—-8)x6=6 3+6x(648)="7 3+6%x8+6=10

N
r

N
/

N
-

N
-

3677 \
6+-3-T7T+7=1 6+-B+7-7)=2 3+6x(7T-7)=3 3x6—(74+7) =4 7—-34+7-6=5
6-B3+7+7)=2 6-(B34+7-7)=3 3x6-—T—7=4
6+-Bx7T+T7)=2 6—-3+7+7=4
3x(T—7) +6=6 36X (7T+7) =7 3r6-7+-7=28 3+6+7-7=9 3¥6+7+7=10
3X(T+7)+6=7 3X7T—(64+7)=8 34+6x7T+7=9 3+ (7T—6) x7=10
3678 \
3-(6+8)+7=1 B+6+7) +8=2 3x6—(7+8)=3 6-3+8—-7=4 3+(6+8) +7=5
6+-3+7-8=1 3x6-7—8=3 B+7)+(8-6)=5
3x(6+8)~7=6 BF6—8)x7=7 3+6+7—-8=28 3+6x(8—7) =9 3+6—7+8=10
3+-7x(64+8) =6 3x7T—(64+8) =7 (B3+6)x(8—=7) =9
IX7T—-6—-8=7
3679 \
3+6x(9-7)=1 3x6—(7T4+9) =2 (3x7+6)+9=3 6+3+9-7=4 B+6x7)+9=>5
3x(9-T7)+6=1 3x6-T—-9=2 6+3x(9—-7)=4
3+r6-(9-7) =6 3F6+7-9=7 3-6x(7+9 =8 3x6+(9-7) =09 6+7—-9+3=10
3x7T—(64+9) =6 B+6)x7T+9=7 3+6)+9+7=8 3x6+94+7=9
I3X7—-6—-9=6
3689 \

3x6—(849)=
3x6-8—-9=1

(3x8—6)+9=2
6-3+8-9=2
6—-(3+9-8)=2

6+(34+8-9)=3
6-3x(9—8) =3
(6-3)x(9-8)=3

6-(3+9)x8=4
6-3+9-8=4

(6x8—3)+9=5
8—6+9+-3=5

N

B+9-(B8-6=6
8—3Xx6+-9=6

316+8—-90=28
(3+6)x8+9=28

(BF6-8)x9=9
34+46x(9—-8)=9
(3+6)x(9—8)=9

3+6—-8+9=10
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(3699

3x6+(949) =1
(B3x6-9)+9=1

(B3+6+9)+9="2

34+6x(9-9)=3
(3x6+9)+9=3

B+9)+(9—6)=4
6-3+9+-9=4

~

3x(64+9)+9=5

3+9+-(9-6) =6
34+(949) +6=6
3x(9-9)+6=6

9—3x6+-9=7
9-(349)+6=7

316-9-0=28
(3+9)x6=-9=28

3¥6+9+-9=10
(34+6)+9+9=10

J

N
(3789

N

I3IXx8—-7—-9=28

3—(T+9)+8=1 (B+7+8) +9=2 7-3+8-9=3 3XxT—(849) =4 3x(7T+8)+9=5
8+(9-7)—3=1 7—-(3+9-8)=3 3x7-8-9=4 34+ (7T+9)+8=5
3X(7T+9) +8=6 3F8-(0-7) =7 BF7—-9)x8=28 3F7+8-90=9 3+7x(0—-8) =10
3+8%x(7T+9) =6 8—3+9—-7=7 3x8—(74+9) =38 (3+7)x (9—8) =10

K3799 \
T+9+3-9=1 (7-9+9)+3=2 3+7x(9-9)=3 7T—(34+9-9)=4 7-34+9+9=5
7T—-(9+9) +3=1 3x7-—(9+9) =3 7T-3x9+9=4 7T+9+9-3=5

3X7T—9—-9=3 9+-34+9-7=5
B+9)-0O-7=6 3x(9-9)+7="7 9-3+9-7=28 3+7-9+9=9 3+7+9-9=10
9+3%x(9—-7)=6 B+7-9)x9=9 3+7x9+9=10

K4445 \
(4+4+4)+5=1 4+4+5—-4=2 5—(44+4)+4=3 44 (4—-4)x5=4 4x(4—4)+5=5
4+-4x(B5-4)=1 5+4+4—4=2 (4+4x4)+5=4
(4+4x5)+-4=6 44+4+4-5=7 4—4+-4+5=8 44+4—-4+5=09 4+4+-44+5=10

4x4—(445)=7 4+4x(5-4)=8 44+4+4x5=9
(4+4)x(5—4) =

K4446 \
6—(4+4+4)=1 4+ (4+4-6)=2 4+ (4+4)x6=3 44+ (4—-4)x6=4 (4x6—4)+4=5
6-—4+4—-4=1 (4+4+4)+6=2 4+44+46-4=3 (4+4)+-(6-4)=4
44+4+4—-6=6 (A4+4x6)+-4=7 4x(44+4—-6)=38 4—4+-44+6=9 4+4—4+6=10
4x(4—-4)+6=6 (444)+-4+6=28 44+6—-4+4=9 44+4+-4x6=10

4x4+(6-4)=8

/4448 \
4—(4+8)+4=1 4-4x4+8=2 4—(4+4)+8=3 44+4+4-8=4 4+(4+4)+8=5
8+4—4+4=1 4+ (4x4+8) =2 4-4+(8-4)=3 Ax(4+4)+8=4 4+4+(8-4)=5

4+-44+8+4=3 44+ (4—-4)x8=14 4+-44+8—-4=5
4+4x4+-8=6 I+ (d+8)~4=7 4x4x4+-8=8 (A+4x8) +4=9 A+r4+-4+8=10
444-8+-4=6 4x(4—4)+8=8 444+8+4=10
/4456 B
(4+-4+5)+6=1 4—(4+46)=5=2 4x(6-4)—5=3 (4+4x5)+-6=4 4x4—(54+6)=5
4+ (4x(6-5)=1 4+ (4+6)x5=2 5—-4+(6-4)=3 4x4—-5-6=5
4—-4+6-5=1 4+-44+6-5=2 5—446—-4=3
4x(445)+-6=6 44+44+5—-6=7 44+4x(6—-5)=38 44+4—-54+6=9 (4+4—-6)x5=10
(4—-4)x5+6=6 4x(446)+-5=28 44 (5—4)x6=10
K4457 \
4—-B5+7)+4=1 4+ (4+5-7)=2 (4x4+45)+7=3 Ax4—(5+7) =4 4+4-7T)x5=5
7T—(4+4+5) =1 4—4+(7T—-5)=2 (444+7)+5=3 4x4—-5—-T=4 (4—4)xT7T+5=5
4—-447-5=2 4+4+7-5=3 (44+44)+(7-5)=4

4+4+5-7=6 A4 x5+7=7 Ax(4+5-7=8 Ax5-—(4+7) =9 4+4-5+7=10
4+ (B+7)+4=7 4x4+(7T-5)=8 4x5—-—4—-7=9
4x(7T—4)—-5=T7
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(4458

448+4-5=1

(Ax5—4)=8=2
(b—4)+4x8=2

(4+4x5)+8=3
4x4—(54+8)=3
4x4-5-8=3

4% (44+45-8) =4
4+448-5=4

44+4+4+5-8=5
(4+4)x5+8=5

~

(4+4)-8+5=6
4+(8—4)+5=6

@-—4O)x5+8=23
4x5—(4+8) =8
4x5—-4-8=38

Gx8-—4)=4=9

4x4x5+-8=10

4x4+(749)
(Ax4—7)=9

1
1

4+ (447-9)=2
4-4:(9-T7)=2
4-449-7=2

4+449-7=3
4x(7T-4)—9=3

A4+4)+09-7) =4
4x(9—-T)—4=4
T+-(4-9+4)=14

(4466 \
4+ (4+6-6)=1 4+44+6+-6=2 6+(4+4-6)=3 44+4x(6-6)=4 (446)+(6—-4)=5
4+(4x6+6)=1 4x(6—4)—6=2 (6—4)+4x6=3 4x4—(6+6)=4 6+4x6—-4=5

4x4—6—-6=4
(4—4)x6+6=6 1+4-6+-6=7 4+4+6-6=38 4+4+6+-6=9 (A4+6x6)~4=10
446+-(6-4)=7 4+4x6+-6=28

K4467 \
(4+44+6)+7=1 4+44+6)=7=2 4x4—(6+7)=3 (44+4x6)+-7=4 6—4+7—4=5
4+ (4x(7-6)=1 4+-447—-6=2 4x4—-6—-T7=3
4-447-6=1
(A+4-7)x6=6 4+4+6-7=7 4+4x(7—6)=8 4+4—-6+7=09 6—4)x7—-4=10
(4—4)x7+6=6 (4+4)x(7T—6)=8
446+ (7T—4)=6 4x6+(7T—4)=8

(4468 \
4-4x6+-8=1 4+(4+6-8)=2 4+4+8-6=3 (4+4)=(8—-6)=4 4x(44+6)=8=5

4x4—-(6+8)=2 6+(4x4+8)=3 4x44+8)+6=4
4x4-6-8=2
4+4+6-8=6 444xX6+-8=7 4x(44+6-8)=38 (44+8)+-4+6=9 4+4-6+8=10
(4+4)x6+-8=6 (4—4)x6+8=38
4x4+(8-6)=8

/4469 \
4x4—-(64+9)=1 4+6)+(9—-4)=2 4-4+9-6=3 4x(4+6—-9) =4 4+4+6-9=5
4x4-6—-9=1 4+-6x9—-4=2 4+4x(9—-6)=3 4+-4+9-6=4
(A—4x9r6=6 6—-4+9—-4=7 4x(9—-6)—4=28 A—4Hx6+9=9 4+4-6x9=10
6x(9—(4+4) =6 6+9—(4+4)=7 4x (4—-9+6)=10

/4478 \
4x4—(T+8) =1 4+448—-7=2 (4x7—4)=8=3 (44+4x7) +-8=4 (AxT7—8) +4=
4x4-7-8=1 7T+4-4+8)=2 4x(7—4)—-8=14 7T—4x4+8=5
4+44+7)+8=1
7T—(4+4)+-8=6 4444+7-8=7 4+4—-7)x8=38 44+4-74+8=9 (4+8)+4+7=10
(7—4)+4x8=6 (A44+4)x7+8=T7 (4—4)x7+8=8 7T+4x8—4=10
T—4+(8-4)=6

(,4479 I

(A+7+9) +4=5

44+4+7T—-9=6

@-—)x9F+7=7
449+ (T—4)=7

IX(A+7-9) =38
4x4+(9-7)=8

@+4-—7)x9

=9
(4—4)x74+9=9

4+4-74+9=10

N
(-4488

4x4+(8+8)=1
4+-(448-8)=1
4+-(4x8+8)=1

(A4+4+8)+8=2
4+448:+8=2

(Ax4+8)+8=3
(4+8) = (8—4)=3

4+4x(8-8)=4

(4+8+8)+4=5

AN

IX (418 =8=6

44+4-8+8=T7

44+44+8+-8=9
(44+4)+-8+8=9

4x4+-8+8=10
4—-8+4+8=10
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-

4489

(4+4+8)+9=1
4+ (4x(9-8)=1
4—4+9-8=1

4+44+9-8=2
9+-(4+4+8)=2

4+ (448 x9=3

(A+4x8)+9=4

(4+4x9)+8=5

~

N
-

N
K

N
(

N
/

N
-

N
-

0—(4+8)-4=6 1f4+8-90=7 I+4x(9-8) =38 1+4-8+9=0 d+4)=8+9=10
(A+4)x (9-8)=38 (44+4)+8x9=09 4+ (8—4)+9=10
(4—4)x849=09
4556 \
4+ (B5+5-6)=1 4+-54+6+-5=2 (44+5+6)+5=3 4+ (5-5)x6=4 (545)+(6—4)=5
(44+46-5)+5=1 5—4+6—5=2 (5+5+6)+4=4 5x(6—4)—5=5
(446)+=(5+5)=1
4x (5-5) +6=6 (A¥6)=5+5=17 4+5+5-6=238 I-5+5+6=09 4+5-5+6=10
4x5—(54+6)=9 445+5x6=10
4x5-5-6=9
4566 \
4+(5-6+6)=1 5—-4+6+6=2 5+ (446)x6=3 445%x (6—6)=4 4% (6—6)+5=5
(44+46+6)+5=1 5—6+(6—4)=2 5x (6—4)—6=4
5—(44+6-6)=1 5—(64+6)+4=2
(4x6+6)+-5=6 (6—-—4)x6—-5=T 4+5-6+-6=28 44+54+6—-6=9 44+5+6+6=10
5X6—-4xXx6=6 4x5—(64+6)=38 4+5Xx6+-6=9 44 (6—5)x6=10
4567 \
4+ (B5+6-7)=1 (4x5—6)+7=2 5x(6—4)—7=3 6 -4+ (7T—5)=4 (446)+(7T—5)=5
4-6+(T—5)=1 4—-(5+7)+6=2 56+ (7T—4)=3 6-—4+7—-5=4 7—(44+6)+5=5
4+ (B4+T)x6=2 6+ (4+5—-7)=3 (6—4)x (7—5)=4
1+ (5+7)~6=6 Ix5—-(6+7) =7 1+5+6—7= 1+5x(7T—6)=9 1+5-6+7=10
(5+7)+(6-4)=6 | 4x5-6-7="7 (445 x(7T—6)=09
(446)+-54+7=9
4568 \
4+8-5-6=1 (4x5—-8)+6=2 4%x(8—-6)—5=3 5+(4+6)x8=4 6—-4+8-5=5
448—-(54+6)=1 4-6+(8-5)=2 5—4+(8—-6)=3 5+4x8—6=4
4+6x(8-5)=2 5-(44+8)+6=3
4x5—(6+8) =6 1+5+6-8=7 1x6+-(8—5) =38 5+6—-8+4=9 4x5+(8—6)=10
4xXx5—-6—-8=6 4x6+-8+5=28 (446)+5+8=10
4578 \
4+ (B5+7-8) =1 (4+5+7) +8=2 5+4x8—7=3 (4x5+8) +7=4 4x5—(T+8) =5
4x(7T—-5)+8=1 5Xx7—-4x8=3 4x5—-7—-8=5
G+7)+(8-4)=3
4x (5+7) ~8=6 A+5—-8)x7=17 415+7-8=28 1+5x(8—7)=9 1+5—-7+8=10
44 (T+8)+5=17 (A4+45)x(8=7)=09
4588 \

N
-

4+(5-8+8) =1 5—4+8+8=2 5—8=(8—4)=3 44+5x(8-8)=4 4x(8-8)+5=5
(4+8+8)+5=1 5Fr4x8—8=2 4x5—(8+8)=4

5—(4+8-8)=1 4x5-8-8=4

8=4x(8-5)=6 5r8+-(8-4) =7 Ir5-8+8=28 I+5+8-8=9 Z15+8<-8=10
(8—5)~4x8=6 8—4+8—-5=17 (4+5-8)x8=38 44+5x8+8=9

41668 ~
4+(6+6—-8)=1 (A4+6+6)+8="2 (4+6+8)+6=3 44+ (6—-6)x8=4 (4+6x6)+8=5
4-6+(8-6)=1 4:+64+8+6=2 (6—4)x6—8=4 (4+6)+(8-6)=5
(4+8—-6)+6=1

Ix(6+6)-8=6 I+6-(8-6) =7 I16+6-8=28 IX6+-8+6=09 Ix6—(6+8) =10
4:8%x(6+6)=6 (6x6—8)~4=7 4% (6—6)+8=28 4x6—-6-—8=10

J
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(4669

~

4+ (6x6+9) =1 (4x6—-6)+9=2 4+ (6+6)x9=3 4+(6—-6)x9=4 (4x9-6)+6=5
4+ (6x6)x9=1 4-6=(9—-6)=2 4x9+(6+6)=3 6—4+9—-6=5
4+-6+6x9=1 4+6x(9—-6)=2
4+6-(9-6)=6 4+6+6—9= 4+6x6+-9=28 4x(6-6)+9=09 4=6x(6+9) =10
(44+6—-9)x6=6 4x6+(9—-6)=8 4x6—(6+9) =9 4% (6+9)+6=10
4%x(9—-6)—6=6 4x6—-6-9=9

(4679 \
4+ (6+7-9) =1 4x(9-T7T)—6=2 6-(4+7-9)=3 6-4=+(9-7) =4 4+6)+(9-7) =5
4-6+09-7) =1 6x(7T—4)+9=2 6+-4x(9-7)=3 6-44+9-7=4 4x(9—-6)—7=5

6—4)x(9—-17)=4

(A4x9+6)-7=6 I+6-09-7=17 4+6+7—-9=38 6x(7T—4—-9=9 6+ (7T+9) ~4=10
6XT7T—4x9=6 (44+6-9)x7="7 4x6—(7T+9) =8 6+9+(7T—4)=9

K4688 \
4x(8—-6)=8=1 (4x6—-8)+8=2 6—-4+8+8=3 44+6x(8—-8)=4 8—4x6+8=5
4+-8x(8—6)=1 6—(4+8—-8) =2 6x(8—4)=8=3 (4x6+8) ~8=4

6+-(4—8+8)=2
4x(8-8)+6=6 4x (6+8)+8="7 4%x6—(8+8)=38 41+6-8+-8=9 4+6+8—-8=10
(4+8)+(8—6)=6 4x6-8-8=8 (4+8)x6+-8=9 4+6x8+-8=10
4+8+(8—-6)=8

(4689 \
6-4+8-9=1 (44+6+8)+9=2 6+-4x8—-9=3 (44+8)+(9—-6)=4 8+44+49-6=5
6—-(449-8) =1 6—-4+9-8=3 4x(9—-6)—8=4 9-6+8+4=5
8—4)=6x9=6 4x6—(8+9) =7 (4+6—-9) x8=28 4+6+8—-9=09 4+6x(9—8)=10
8+4x(9-6)=6 4x6-8-9=7 (4+8)x6+9=38 (446) x (9—8) =10

K5556 N
(B5+5+5)+6=1 5+5+6—-5=2 5+(5+5)x6=3 6—(5+5)+5=4 54+ (5-5)x6=5
5+(B5x(6-5)=1 6+5+5—5=2 5x6+(5+5) =3 (54+5x5)+6=5

5Xx(5—-5 +6=6

B+5X6)+5=7

G+5)+-5+6=38

5+5+5—-6=9

5—-5+5+6=10
5+5x (6—5)=10
(5+5) x (6 —5) =10

8—(5+5+6)=1
8—5+5-6=1

(5+5+6)+8="2
5—5+8—6=2

(5+5+8)+6=3
5+5+8—6=23

/5567 ~N
(B+5+6)+7=1 5+5+7—6=2 5—(54+7) +6=3 5x(T—5)—6=4 (5+5x6)+T7=5
5-(5x(7T—6)=1 | 5—6=(T—5)=2 (5x5—7)+6=3
5—-54+7—-6=1
B-5)x7+6=6 B-5)x6+7=7 5+6-(7—5) =28 5+5+6—7=09 5+5x(7—6) =10

54+ (5+7)+6= 5x (5+7)+6=10
/5568 ~N

6—-5+8—-5=4

(5+5)+(8—-6)=5
5x(8—6)—5=5

B-5)x8+6=6

5+6+(8-5) =7

5+5+6—-8=28

5x(8—5)—6=09

5x6+(8—5)=10

N
/-5578

AN

(5=54+7)=8=1 5-54+8—7=2 7:548+5= (Bxb5+7)+8=4 (5+5x7)=8=5

5-(5x(B8-7)=1 | 5x(7T—5)—8=2 B+7+8)+5=4

5—5+8—7=1 B+7)+(8-5) =4

(T—B)x(B8-5 =6 | b-5)x8+7=7 G-5)x7+8=38 5f5+7—-8=0 BxB5—(7+8) =10
5+ (7T+8)=5=28 5x5—7—8=10
5x(8—5)—7=8 54+5x%x (8—7) =10
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(5667

51 (6+6-7)=1
(5+7—6)+6=1
B+7)+(6+6)=1

5+6+T7+6=2
6—-54+7—-6=2

(5+6+7)+6=3

6—(5+7)+6=4

(6+6)+(7—-5)=6
6x(7T—5)—6=6

5X(6-6)+7=7

G+ +-6+6=38

6+6=(7T—5) =09

5+6+6—-7=10

5677

Y

5+(6—-7+17)
B+7+7)+6
6—(5+7-17)

1
==

6—54+T7+7=2
6+7+7—5=2
T—5x(7T—6)=2

7T-5+7-6=3

(6+7+7)+5=4
7T—6+(7T—5)=4

54+6x%x(7T—T7)=5
6x(7T—5)—7=5

J
~

BGBx7+7)+-6=7
6XT7T—-—56XT7T=7

(T—B)x7—-6=28

G+ =6+7=9
(B+7xXT7)+6=09

54+6—-7+7=10

(,5679 ~
54+9-6-7=1 B+6+T7)=9=2 (Bx6-9)=7=3 G+7)=(9—-6)=4 | 7T—-549-6=5
54+49—(6+7) =1 5-6+(9—7)=2 5Xx9—6x7=3 5x(9-7) —6=4

6-(5+9)+7=4
(T—B)x(0—-6 =6 | 6x9-5)=7=7 516 (0—-7) =38 Bf6+7—-90=09 6+9) +5+7=10
9-6+(7T—5)=6 6x(9—T)—5="7 B+T)x6+9=28
9—(5+7)+6="17

K5689 N
5+(6+8-9)=1 6-5+9—8=2 6x8—5x9=3 6—-8+(9—5)=4 (6+9) +(B8-5 =5
5x(8—6)—9=1 6x(8—5)~9=2 6+8x%x(9—5)=3 8+ (5+6—9)=4 8—(6+9)+5=5
8—5+9-6=6 EX(0—-6)—8=7 6+8+-(9—-5 =28 6Xx(8—-5 —-9=09 5+6+8—-9=10

(5+9)+(8-6)=7 | 8—6)Xx(9—5)=8 | 6+9=(8—5)=9
8+6Xx9—-5="7
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